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1
00:00:00.000 --> 00:00:00.820
Celen Pasalar: Okay.

2
00:00:01.770 --> 00:00:06.290
Celen Pasalar: please go ahead and you know, click the button whether you are

3
00:00:06.320 --> 00:00:08.430
uprooting the concept or not.

4
00:00:08.730 --> 00:00:10.460
Celen Pasalar: And hopefully that you are.

5
00:00:17.240 --> 00:00:19.080
Mike Brown: I still can't share a screen.

6
00:00:19.900 --> 00:00:25.930
Tim Brock: I think you're hosting this one because you were on first. So I think you're gonna have to give like the permission.

7
00:00:34.360 --> 00:00:36.260
Celen Pasalar: Mike, can you try it again?

8
00:00:36.590 --> 00:00:38.450
Tim Brock: I I need to co-host.

9
00:00:38.560 --> 00:00:40.440
Mike Brown: That works now.

10
00:00:46.410 --> 00:00:47.110
Mike Brown: Okay.

11
00:00:53.060 --> 00:00:56.010
Mike Brown: all right. Can you see this?

12
00:00:57.930 --> 00:00:58.900
Celen Pasalar: Yes.

13
00:00:59.170 --> 00:01:09.420
Mike Brown: okay. So for those of you who are new to this. What we've been doing is for the past couple of years. We've been working on a project a research project for

14
00:01:09.890 --> 00:01:13.370
Mike Brown: North Carolina Department of transportation.

15
00:01:15.400 --> 00:01:22.640
Mike Brown: and we're calling it urban applications of innovative intersection designs. And the idea here is that

16
00:01:23.100 --> 00:01:26.780
Mike Brown: there might be some new strategies, for that are.

17
00:01:27.110 --> 00:01:29.830
Mike Brown: they can manage high volumes of traffic

18
00:01:30.170 --> 00:01:37.550
Mike Brown: and do it in ways that are very compatible with walkable makes use development. So that's what we want to show you today.

19
00:01:39.040 --> 00:01:50.410
Mike Brown: and these are the principal investigators of our team myself. I'm. founder of urban innovators. I'm based in Utah, but I'm in North Carolina

20
00:01:50.530 --> 00:02:01.500
Mike Brown: professional engineer as well as a Utah professional engineer and I'm. On the Trb Intersections Committee, and I know a fair amount about alternative intersections.

21
00:02:01.630 --> 00:02:06.770
Mike Brown: Chris Cunningham is with the institute of transportation, research and education at

22
00:02:06.790 --> 00:02:15.680
Mike Brown: Nancy State University. and he's not available today. But he's he's a civil engineer that

23
00:02:15.800 --> 00:02:21.400
Mike Brown: does a lot of good analytics for this type of stuff and the joint you want to mention yourself.

24
00:02:22.210 --> 00:02:39.070
Celen Pasalar: Hi, Everyone i'm

25
00:02:39.070 --> 00:02:46.330
Celen Pasalar: community design, and also related to architectural efforts. So glad to have you all here with us today.

26
00:02:48.290 --> 00:03:01.140
Mike Brown: Very good. So who are you guys? Who are we invited to weigh in on this experts with insights and passion. We've got mixed use developers, appraisers, real estate market analysts

27
00:03:01.560 --> 00:03:07.280
Mike Brown: walk like experts and advocates. urban planning, academics and high achievers

28
00:03:07.600 --> 00:03:16.020
Mike Brown: and planning and engineering staff from from the cities that we that are focus cities that we

29
00:03:16.640 --> 00:03:24.950
Mike Brown: they created some small area designs for, and then Ncdot as well. And that was our for group on Friday as well as today. So

30
00:03:25.390 --> 00:03:30.320
Mike Brown: and what do we hope to learn from you? Insights regarding the need for walkable mixed use development

31
00:03:30.630 --> 00:03:47.020
Mike Brown: challenges facing suburban commercial corridors otherwise known as strodes, and I'll talk about strodes here in a minute. and then we're also curious to know. Will our strategy succeed at converting aut0 0riented areas into walkable mixed use areas. Then

32
00:03:47.360 --> 00:03:52.740
Mike Brown: that's still where we need you guys to weigh in on the likelihood of success.

33
00:03:52.880 --> 00:04:09.660
Mike Brown: So as i'm going through this, we're going to do. I'll present some stuff. Then we'll have some questions. not a survey that you can answer, and then we'll have some discussion. If you see particular slide numbers that you want to refer back to into the discussion. Just write them down

34
00:04:09.860 --> 00:04:12.240
Mike Brown: so that I know how to find them.

35
00:04:12.640 --> 00:04:13.800
Mike Brown: And then

36
00:04:14.090 --> 00:04:22.890
Mike Brown: So here's our agenda. Basically I won't go through this all that much, except to say that we'll just have some presentations, and then some surveys

37
00:04:23.060 --> 00:04:25.360
Mike Brown: more presentation and then discussion.

38
00:04:25.890 --> 00:04:32.530
Mike Brown: So, and if all goes well, we'll finish in a 119Â min. It's 1Â min to spare on the 2Â h.

39
00:04:32.860 --> 00:04:33.890
Mike Brown: Mark I,

40
00:04:34.310 --> 00:04:42.730
Mike Brown: if any of you need to leave before the 2Â h are finished. We understand that because we originally hoped we could get done in an hour and a half. But

41
00:04:43.130 --> 00:04:47.310
Mike Brown: as we worked on developing this, we realized it was really a 2Â h thing. So.

42
00:04:49.710 --> 00:04:53.420
Mike Brown: anyway, let us know in Chat. If you need to leave early or something.

43
00:04:54.880 --> 00:04:59.510
Mike Brown: So here's what Ncdot is hearing from communities. They

44
00:05:01.660 --> 00:05:13.090
Mike Brown: they're hearing that there's communities that want to create walkable places, and that are frustrated with the type of road on the top there. and feeling like they want to introduce walkability to places like this.

45
00:05:14.300 --> 00:05:15.090
Mike Brown: And

46
00:05:16.620 --> 00:05:22.090
Mike Brown: and Cdot thinks that there might be some ways to do that, but they're hearing that

47
00:05:22.540 --> 00:05:25.140
Mike Brown: there's not a lot of confidence among the cities that

48
00:05:25.310 --> 00:05:32.300
Mike Brown: that there's knowledge of how to do this or will to do this or anything like this. So this is the reason for our research is.

49
00:05:32.840 --> 00:05:38.770
Mike Brown: how do we can we find some ways to actually transform these type of places.

50
00:05:41.270 --> 00:05:53.170
Mike Brown: So I mentioned the term strode. I don't know how many of you have heard it before, but the idea is. it's a hybrid between a street and a road. And this is Charles Moron.

51
00:05:53.320 --> 00:05:55.540
Mike Brown: who created this concept.

52
00:05:55.710 --> 00:06:08.330
Mike Brown: or at least a term for it. and he calls it the futon of transportation. He says you can have either a great couch for a great bed. but it's hard to have a great couch in a great bed at the same time.

53
00:06:08.680 --> 00:06:10.210
Mike Brown: and he applied that same

54
00:06:10.690 --> 00:06:15.430
Mike Brown: concept to to roadways and streets. He says you can have a great street that has

55
00:06:15.840 --> 00:06:29.240
Mike Brown: walkable activity, a lot of commercial and residential interaction. It's a nice place to hang out. You can also have a great road that gets you for me to be quickly, but it's really hard to do both at the same time.

56
00:06:29.320 --> 00:06:31.970
Mike Brown: So that's the concept of the strode.

57
00:06:33.660 --> 00:06:39.160
Mike Brown: And so when Ncdot looks at these type of

58
00:06:40.650 --> 00:06:44.150
Mike Brown: strodes that are that are all over the place.

59
00:06:44.790 --> 00:06:50.950
Mike Brown: The question is, what do you do about it? Well, it's challenging because there's a lot of traffic on these things

60
00:06:51.160 --> 00:06:58.130
Mike Brown: they do have now, and they always will carry huge amounts of traffic. It's almost regardless of what

61
00:07:00.850 --> 00:07:03.250
Mike Brown: the alternative mode.

62
00:07:03.540 --> 00:07:06.340
Mike Brown: planners, and and

63
00:07:06.850 --> 00:07:12.450
Mike Brown: want to have happen. It's just the fact that some of these corridors are never ever

64
00:07:12.490 --> 00:07:21.400
Mike Brown: going to have much less traffic than they have right now. and at least not for decades, many, many

65
00:07:21.440 --> 00:07:22.420
decades. And

66
00:07:22.960 --> 00:07:29.490
Mike Brown: so we've got to figure out how to deal with that. Then there's concern over delay. Engineers worry that if it's slow down traffic for walkability.

67
00:07:29.650 --> 00:07:44.000
Mike Brown: it might exacerbate delay and congestion. So even if. when there's a big effort to say, we need to change this place and make it nicer and more walkable. It's hard to get the engineers on board when they're concerned about the traffic.

68
00:07:45.560 --> 00:07:55.330
Mike Brown: and then there's just a lack of tools, even when engineers are on board with supporting walkable development, they don't really know what to do. They don't have a great toolbox available.

69
00:07:55.440 --> 00:07:58.920
Mike Brown: So what ends up happening is lipstick on a pig, because

70
00:07:59.030 --> 00:08:02.060
Mike Brown: nobody has anything more than that.

71
00:08:02.340 --> 00:08:09.940
Mike Brown: So part of our effort here is to see if we can expand the tool box of techniques for dealing with this.

72
00:08:11.310 --> 00:08:14.360
Mike Brown: So here's a question for you guys to think about.

73
00:08:14.560 --> 00:08:23.440
Mike Brown: Do strodes contribute to blight. I would say, probably. But how much is a little hard to say. There's a lot of things that contribute to boy, and the

74
00:08:24.280 --> 00:08:26.690
Mike Brown: the nature of the highways that

75
00:08:26.930 --> 00:08:39.490
Mike Brown: serve these places. I think is one of those factors. But then, more important than you know, what's to blame for these things? Is is there something that can be done to bring back prosperity.

76
00:08:41.179 --> 00:08:46.870
Mike Brown: Can we reinvent these strodes? And if we do, will it help to bring back?

77
00:08:48.400 --> 00:08:51.750
Mike Brown: So here's a thought to keep in mind.

78
00:08:53.730 --> 00:08:56.480
Mike Brown: I hear a lot that

79
00:08:57.240 --> 00:08:59.490
you know when people talk about

80
00:08:59.740 --> 00:09:11.990
Mike Brown: betterments or beautification amenities on streets. a response from a lot of of do people that I not just in North Carolina, but everywhere that I go

81
00:09:12.000 --> 00:09:15.030
Mike Brown: is it cost too much? Who's going to pay for this stuff?

82
00:09:16.060 --> 00:09:24.920
Mike Brown: We're way behind on serving everything that we already need to serve, and we don't have the money. So this idea is, yeah, sure.

83
00:09:25.040 --> 00:09:34.330
Mike Brown: Pure pavement is cheaper per mile. But if it also results in fewer people per mile, we're available to pay for it.

84
00:09:34.920 --> 00:09:46.140
Mike Brown: Then you might have a pretty high cost per capita versus in the other scenario. Where okay. yeah, All of these additional features make it expensive per mile.

85
00:09:46.600 --> 00:09:53.370
Mike Brown: but if the result is it. it attracts a lot of density and a lot of people available to pay for it.

86
00:09:53.590 --> 00:10:02.970
Mike Brown: Then maybe you have a lower cost per capita, and it's actually cheaper to build the bottom scenario than the top scenario. So that's the hypothesis, and

87
00:10:04.420 --> 00:10:11.040
Mike Brown: and this is a little bit of backup to help demonstrate. This is a good chance. This is true.

88
00:10:11.410 --> 00:10:22.660
Mike Brown: Strong towns has done some research. They do it in towns all over the place. This is just one example of from Lafayette, Louisiana. where the blue bars are

89
00:10:22.760 --> 00:10:26.330
Mike Brown: places that tend to be mixed use areas.

90
00:10:26.840 --> 00:10:30.600
Mike Brown: and they generate more. Tax Revenue.

91
00:10:32.310 --> 00:10:35.980
Mike Brown: then, is required to support the infrastructure that's there.

92
00:10:36.110 --> 00:10:51.500
Mike Brown: So even though they often have street trees and other kinds of nice features they still are bringing in more money in taxes than than it took to support that stuff. The red is the opposite Single family areas and suburban shopping malls that

93
00:10:51.620 --> 00:11:03.770
Mike Brown: on a life cycle basis cost more money to maintain than they bring in and taxes. And it's just because of the the fewer number of taxpayers available to cover at all.

94
00:11:04.910 --> 00:11:11.000
Mike Brown: So now we're going to pause, and we have a a a survey to ask you about.

95
00:11:12.890 --> 00:11:19.580
Mike Brown: and you can use your phone by just scanning that thing, or you can go to the link. I think the link is in the chat.

96
00:11:20.360 --> 00:11:28.140
Mike Brown: So if you want to use your computer to answer the survey. Go ahead, and for any dot who's here.

97
00:11:28.490 --> 00:11:33.610
Mike Brown: any municipal observers. If you weren't here on Friday, then go ahead and

98
00:11:34.300 --> 00:11:37.590
fill this part out if you would.

99
00:11:37.700 --> 00:11:42.310
Mike Brown: And if you work here on Friday I probably I don't think we want to double count.

100
00:11:48.080 --> 00:11:54.850
Mike Brown: Okay, so I'll just pause for a bit and let you guys try to do that, and if you have any questions, go ahead and

101
00:11:55.740 --> 00:11:56.760
Mike Brown: coming in

102
00:11:57.640 --> 00:12:00.780
Mike Brown: it, we've set aside 10Â min, but let's

103
00:12:01.510 --> 00:12:05.110
Mike Brown: somebody watch, and when it looks like everyone's done, we'll just continue.

104
00:16:44.340 --> 00:16:46.120
Mike Brown: How do we know what everyone's done?

105
00:16:47.300 --> 00:16:52.680
Celen Pasalar: I'm watching it from my end. So

106
00:16:52.940 --> 00:16:53.550
Mike Brown: okay.

107
00:16:53.710 --> 00:16:56.470
Celen Pasalar: we have a few in already.

108
00:18:18.600 --> 00:18:22.440
Mike Brown: I think we had a few join after we got started. Does anyone need to

109
00:18:23.770 --> 00:18:24.970
Mike Brown: catch up?

110
00:18:29.250 --> 00:18:31.940
Mike Brown: We didn't really do any general introductions, because we

111
00:18:34.100 --> 00:18:37.730
Mike Brown: what a day make sure we can stay on time.

112
00:18:46.910 --> 00:18:50.510
Mike Brown: But if you joined after you got started, go ahead and and

113
00:18:50.900 --> 00:18:52.520
Mike Brown: ask questions if you're not

114
00:18:54.000 --> 00:18:57.060
Mike Brown: plugged into this well enough.

115
00:19:12.960 --> 00:19:14.680
Mike Brown: But, Charlie, you tell me when I can.

116
00:19:14.750 --> 00:19:18.380
Celen Pasalar: So, Mike, I think we are good to continue.

117
00:19:18.560 --> 00:19:19.250
Mike Brown: Okay.

118
00:19:20.290 --> 00:19:22.430
Mike Brown: all right. So

119
00:19:24.290 --> 00:19:30.570
Mike Brown: so thank you for filling out that survey. And that's kind of a context for the type of things we want to

120
00:19:30.670 --> 00:19:32.470
Mike Brown: talk about and ask you about.

121
00:19:33.480 --> 00:19:34.740
Mike Brown: So here is

122
00:19:34.750 --> 00:19:41.410
Mike Brown: just an introduction to some of our big ideas for converting strodes into complete streets and catalyzing mixed uses.

123
00:19:41.780 --> 00:19:43.530
Mike Brown: So we want to talk about

124
00:19:43.690 --> 00:19:58.870
Mike Brown: an idea we have for slow lanes that would include bicycles. Cars transit anything that's going bike speed, where the idea is not so much about which modes are allowed to be there, but about what speed they're allowed to be there at.

125
00:20:00.080 --> 00:20:05.290
Mike Brown: and then we want to talk about converting private parking into Pawn street public parking.

126
00:20:05.600 --> 00:20:14.140
Mike Brown: Then we have a few questions about neighborhood electric vehicles, or these tiny cars, and they're kind of like glorified golf cards.

127
00:20:14.430 --> 00:20:22.060
Mike Brown: But then the bulk of what we want to talk about is place, making alternative intersections, quadrants you terms, and one ways, and

128
00:20:22.400 --> 00:20:28.540
Mike Brown: want to talk, show you what our ideas are for that, and why we think that they're really helpful for traffic and place making.

129
00:20:29.910 --> 00:20:44.580
Mike Brown: So first, we're going to show you some pictures about converting private parking t0 0n street public parking and slow lanes where it's not the mode, it's the speed. So here's a rendering of a typical strode type place.

130
00:20:44.830 --> 00:20:47.260
Mike Brown: and this

131
00:20:48.990 --> 00:20:53.870
Mike Brown: it's an existing area model on an existing area. Basically and

132
00:20:54.570 --> 00:21:05.390
Mike Brown: it's so. And then this is our idea for how that could transform. So you can see the red lines are the new right of way edges.

133
00:21:05.440 --> 00:21:15.670
Mike Brown: and that within that new right of way we've got on street reverse angle parking we moved the sidewalks

134
00:21:15.730 --> 00:21:18.210
Mike Brown: to the far outer edge, and then.

135
00:21:18.520 --> 00:21:24.300
Mike Brown: anticipating that mixed-use buildings could replace the existing parking lots and other

136
00:21:25.810 --> 00:21:27.990
Mike Brown: lot of oriented buildings over time.

137
00:21:28.190 --> 00:21:32.100
Mike Brown: And then there's this peel colored lane, which is a

138
00:21:32.520 --> 00:21:38.000
Mike Brown: It's that slow lane we were talking about where it's not really a bicycle lane, but it's

139
00:21:38.210 --> 00:21:42.740
Mike Brown: big enough that it can accommodate standard size vehicles.

140
00:21:43.110 --> 00:21:44.190
Mike Brown: and

141
00:21:45.030 --> 00:21:49.490
Mike Brown: and also tiny cars and and regular bicycles

142
00:21:50.290 --> 00:21:56.050
Mike Brown: and standard-sized vehicles would be here only to access parking and businesses.

143
00:21:56.310 --> 00:21:58.990
Mike Brown: They wouldn't really be there for

144
00:21:59.770 --> 00:22:02.700
Mike Brown: any kind of long distance travel, because they're

145
00:22:02.720 --> 00:22:10.580
Mike Brown: the speed would be governed such that you couldn't go any faster than a than a bike. So, then, this is Van Legging.

146
00:22:11.070 --> 00:22:18.640
Mike Brown: The previous view shows that in this particular case it would expand the right of way and

147
00:22:19.080 --> 00:22:21.630
Mike Brown: impacting private parking.

148
00:22:23.950 --> 00:22:36.070
Mike Brown: So the the concept that we had was okay. Yes, it does impact private property parking. but it's also replacing a lot of that parking with on street public parking.

149
00:22:38.030 --> 00:22:42.800
Mike Brown: thinking that in many cases this outer edge of parking

150
00:22:42.990 --> 00:22:50.650
Mike Brown: is not heavily utilized. Anyway, it it's available partly as a legacy carry over from

151
00:22:51.290 --> 00:22:56.880
Mike Brown: minimum parking requirements that required a ton of parking, and you know

152
00:22:57.310 --> 00:23:02.630
Mike Brown: better. Be able to handle Black Friday, that kind of stuff. And

153
00:23:02.950 --> 00:23:08.230
Mike Brown: but if we invert this and make this public parking, it might make it more appealing

154
00:23:08.610 --> 00:23:13.860
Mike Brown: to transition. The area into walkable makes use over time. so

155
00:23:15.270 --> 00:23:22.670
Mike Brown: it's on running the next survey that we have got 10Â min set aside for that, but I think it might go faster than that.

156
00:23:24.470 --> 00:23:28.100
Mike Brown: It's going to be a different survey tool called Slide. Oh.

157
00:23:28.420 --> 00:23:34.440
you can use your phone or computer. After that you'll see a quint. So there's gonna be 3 questions. First, I think

158
00:23:34.600 --> 00:23:45.950
Mike Brown: the answer all 3 questions, and then there's a send button. and there's also some pictures available, the same ones we just showed. So if you want to click on the picture. It'll get bigger, so you can see it better.

159
00:23:46.390 --> 00:23:52.580
Mike Brown: And it's kind of one star if you strongly disagree with the question. 5 Star, if you strongly agree with the question.

160
00:23:53.300 --> 00:23:55.420
Mike Brown: And here it

161
00:23:55.430 --> 00:24:01.010
Mike Brown: is. The first question: what you do is you either on your phone, you scan that thing.

162
00:24:01.420 --> 00:24:13.090
Mike Brown: or you can just go to slideo.com on your computer and type in that code. And once you've done that. then you'll see the questions and you can answer.

163
00:24:14.780 --> 00:24:24.740
Mike Brown: and once you answer the first 3 and hit, send it'll. It will in real time show the how everybody answered. Over there on this. on my screen

164
00:24:24.820 --> 00:24:25.990
you on the screen.

165
00:24:28.270 --> 00:24:33.110
Mike Brown: It's kind of an anonymous thing, so nobody knows who is answering what.

166
00:24:33.270 --> 00:24:33.840
Yeah.

167
00:24:40.010 --> 00:24:48.150
Mike Brown: This was one where we were hoping to mostly get the expert opinion on not so much Ncdot staff or

168
00:24:49.230 --> 00:24:51.560
Mike Brown: or our municipal partners.

169
00:25:54.970 --> 00:25:57.230
Mike Brown: We've got pretty much everybody.

170
00:26:01.560 --> 00:26:03.090
Celen Pasalar: We are almost there.

171
00:26:03.960 --> 00:26:04.570
Mike Brown: Okay.

172
00:26:13.480 --> 00:26:24.060
Mike Brown: So it looks like on this first question. where there is private parking between the road and existing buildings, converting it t0 0n street parking, as shown here, will help catalyze walkable development.

173
00:26:24.440 --> 00:26:31.940
Mike Brown: So it looks like there's pretty good agreement that that's probably true. We have a little bit of disagreement about that.

174
00:26:34.380 --> 00:26:46.220
Mike Brown: The second question most property owners could be convinced to donate this row of parking. The overall amount of parking is similar, and if it proves necessary for the success of a desired complete street project.

175
00:26:47.030 --> 00:26:48.360
Mike Brown: Okay, there's a

176
00:26:48.380 --> 00:26:52.420
Mike Brown: pretty help me agreement that that's not likely

177
00:26:54.060 --> 00:26:57.310
Mike Brown: a little harder to get them to just

178
00:26:58.580 --> 00:27:00.010
Mike Brown: donate their land.

179
00:27:01.300 --> 00:27:13.790
Mike Brown: Most property owners could be convinced to pay into a business improvement district for trees and other streetscape. If a market analysis suggests the increase in property value, and business receipts will exceed the cost and maintenance fees.

180
00:27:14.560 --> 00:27:24.920
Mike Brown: Okay. So there is general agreement that if they understood that to be the case and they believe the reporting. Are they the market study that they probably would.

181
00:27:28.210 --> 00:27:30.730
Mike Brown: Yeah. And I I don't know if we use.

182
00:27:31.690 --> 00:27:48.020
Mike Brown: Is this a new one? Did they answer this already

183
00:27:49.930 --> 00:27:51.200
Mike Brown: side of questions.

184
00:27:54.720 --> 00:27:59.930
Stephen Buckman: Well, I would say, you know your business improvement districts are really sticky.

185
00:28:00.110 --> 00:28:02.740
Stephen Buckman: I don't they're not. Most

186
00:28:03.170 --> 00:28:10.070
Stephen Buckman: folks do not like to buy into it, unless it's really really structured amount of money you can show them making.

187
00:28:11.290 --> 00:28:17.000
Stephen Buckman: So I did. I put not strongly disagree, but kind of disagree. And then the other one. On giving up space.

188
00:28:17.610 --> 00:28:21.950
Stephen Buckman: I'm not going to give up space. and then to donate a row of parking.

189
00:28:21.970 --> 00:28:22.970
It's not going to happen.

190
00:28:23.020 --> 00:28:30.420
Stephen Buckman: I don't I don't mean I I strongly believe that won't happen for it. About for the overall amount of parking similar improved necessary for

191
00:28:31.490 --> 00:28:39.150
Stephen Buckman: it. It's really hard for developers in my understanding and my discussions and work I do with them.

192
00:28:39.580 --> 00:28:41.220
Stephen Buckman: To give up this kind of space.

193
00:28:41.460 --> 00:28:43.730
Any space that's given up

194
00:28:44.360 --> 00:28:46.830
Stephen Buckman: is basically dollars out of their pocket.

195
00:28:47.860 --> 00:28:49.590
Stephen Buckman: so that

196
00:28:49.790 --> 00:28:54.960
Stephen Buckman: it's going to be really hard to do. And most honestly. Don't

197
00:28:55.180 --> 00:29:03.070
Stephen Buckman: Aren't down with complete streets, because they see, unless can really be shown from an economic perspective.

198
00:29:03.660 --> 00:29:12.730
Stephen Buckman: because they're looking at this On the retail side, particularly. traffic is good. Automotive traffic is good.

199
00:29:12.760 --> 00:29:16.400
Stephen Buckman: The more people can get to their place, be a car

200
00:29:16.540 --> 00:29:24.210
Stephen Buckman: as opposed to walkability? Is it still in their mindset? And this is driven? This is sorry. The point, I mean showing

201
00:29:24.580 --> 00:29:27.690
Stephen Buckman: it. For instance, pay parking right.

202
00:29:27.750 --> 00:29:31.270
Stephen Buckman: Metered parking has been shown

203
00:29:31.300 --> 00:29:37.890
Stephen Buckman: people, you know, on the academic side, to be a good thing for retail right, because it spins people out.

204
00:29:38.070 --> 00:29:40.400
Stephen Buckman: It creates traffic right

205
00:29:41.610 --> 00:29:45.830
Stephen Buckman: for free parking, though most business owners see that

206
00:29:45.890 --> 00:29:56.760
Stephen Buckman: we we need a free parking because it allows people to come downtown. They don't see the turnover. So even something as simple as that. It's hard for them to grasp on a regular scale. So this is even harder for them to grasp.

207
00:29:58.210 --> 00:29:59.270
Stephen Buckman: It's just not, too.

208
00:30:02.230 --> 00:30:05.460
Mike Brown: That's good insight. The

209
00:30:07.270 --> 00:30:18.890
Mike Brown: because I was speculating that if you could reach them and say, this type of project could increase your property value. and eventually

210
00:30:19.170 --> 00:30:21.220
Mike Brown: I light up to

211
00:30:22.540 --> 00:30:37.610
Mike Brown: change the especially in a dying area. Perhaps that's struggling that they might say, okay, go ahead and we'll just donate this out a row of parking if that's what we have to do in order to make this project work

212
00:30:44.130 --> 00:30:55.740
Stephen Buckman: dying right if you're in a dining area. That's a that's a completely different question than what the questions that were asked. Right? You're saying you're in an area that's rapidly going downhill.

213
00:30:56.900 --> 00:31:00.580
Stephen Buckman: and you are your property values dropping by the day.

214
00:31:00.900 --> 00:31:04.160
Stephen Buckman: and stores are closing by the day.

215
00:31:04.280 --> 00:31:06.320
This is this is the moonshot

216
00:31:06.640 --> 00:31:15.520
Stephen Buckman: that's different than saying kind of this, because most of them still don't see that I mean you. You mentioned sort of slide earlier about the light, and what is a very difficult thing to define

217
00:31:15.840 --> 00:31:16.530
Stephen Buckman: right.

218
00:31:16.620 --> 00:31:22.130
Stephen Buckman: I get. I set a Phd student write an entire dissertation on how light is defined when it comes

219
00:31:22.220 --> 00:31:23.180
Stephen Buckman: to

220
00:31:23.320 --> 00:31:33.850
Stephen Buckman: facts. I permit financing districts, and it's different everywhere. Right so. And most people don't see that they're in a blight situation. How blight is to find it goes back to that old.

221
00:31:33.900 --> 00:31:46.300
Stephen Buckman: you know, back to you know, the eighties, for those of us were old enough to remember with Tipper Go, and did the whole, you know. Smut thing to the Supreme Court, and one of the justices that you know was asked how you define smut and he goes.

222
00:31:46.360 --> 00:31:54.440
Stephen Buckman: You can't. You know it when you see it right. And so it's a similar dynamic. So this whole term on Blight is heavily loaded with

223
00:31:55.120 --> 00:31:55.920
Stephen Buckman: with

224
00:31:56.100 --> 00:31:59.050
Stephen Buckman: what that constitutes, and what that is.

225
00:31:59.160 --> 00:32:07.140
Stephen Buckman: So it it. you know it's one of those things, and it's often you have this. It's when it's in it in front of your face. You don't see something.

226
00:32:08.010 --> 00:32:16.640
Stephen Buckman: and as long as developers that as long as business owners are especially owners of buildings are getting a return on their investment in the sense that they're getting those rents.

227
00:32:16.910 --> 00:32:18.030
Stephen Buckman: They don't want to make it

228
00:32:18.170 --> 00:32:31.940
Stephen Buckman: right. They want to do as little as they can with that that that that so you know, from a development perspective, it it takes a lot of turning. But you did mention something that's important. If this is a dying area that you know all the signs are pointing. This is.

229
00:32:32.180 --> 00:32:48.870
Mike Brown: you know, this is Pittsburgh. 30 years ag0 40 years ago. That's a very different argument, right than just complete streets and walkability.

230
00:32:48.870 --> 00:33:06.470
Scott Polikov: My Mike, if I could add something real quick on that.

231
00:33:06.660 --> 00:33:10.000
Scott Polikov: What about this? As an alternative which is oftentimes

232
00:33:10.130 --> 00:33:16.120
Scott Polikov: with what what you're calling, strode between the curb and the in the drainage pan

233
00:33:16.140 --> 00:33:20.120
Scott Polikov: and the property line. You have large parkways of grass.

234
00:33:20.260 --> 00:33:24.420
and you could reinvent the cross section within the right away.

235
00:33:24.590 --> 00:33:38.270
Scott Polikov: and rezone to allow for as those properties redevelop for to reduce the setback, so that people get more, yield off their private land, and it's more incremental. But I think when you combine

236
00:33:38.270 --> 00:33:46.180
Scott Polikov: putting in a a better pedestrian experience, so that the sidewalks not next to the curve, because there's oftentimes plenty of space with the grass parkways.

237
00:33:46.180 --> 00:34:03.250
Scott Polikov: and then also to the property line. Reinvent that for your walkable street, and then you rezone to allow for encroachment into what currently would be usually a 25 foot setback that allows only parking or more that would be an alternative. I think we meet the economics of these absentee landowners.

238
00:34:03.820 --> 00:34:05.400
Daniel Guimond: I got a couple of

239
00:34:05.710 --> 00:34:16.150
Daniel Guimond: comments on the business Improvement district concept. I I haven't seen business improvement districts work other than any very successful

240
00:34:16.880 --> 00:34:18.860
Daniel Guimond: business settings where

241
00:34:20.420 --> 00:34:26.659
Daniel Guimond: you've got a concentration of pedestrian Oriented businesses, and they see

242
00:34:27.590 --> 00:34:43.520
Daniel Guimond: they collectively see the benefit of investing in streetscape improvements and pedestrianization of their of the district. I I I think the chances of getting a business improvement district approved in a

243
00:34:43.719 --> 00:34:50.800
Daniel Guimond: a blighted or a outmoded commercial district, or or next t0 0.

244
00:34:54.489 --> 00:35:05.760
Daniel Guimond: I believe

245
00:35:06.350 --> 00:35:10.330
Daniel Guimond: you know you're providing to for other

246
00:35:10.370 --> 00:35:14.700
Daniel Guimond: incentives to incentivize the private developers

247
00:35:14.830 --> 00:35:22.160
on on the adjacent properties, to reinvest in that in those properties to develop mixed use development.

248
00:35:22.270 --> 00:35:26.490
Mike Brown: Okay. So a different set of tools other than trying to get voluntary

249
00:35:28.040 --> 00:35:29.320
Mike Brown: compliance

250
00:35:30.330 --> 00:35:33.680
Mike Brown: with the raising funds for maintenance and improvements.

251
00:35:33.850 --> 00:35:34.710
Daniel Guimond: Right?

252
00:35:35.210 --> 00:35:42.590
Stephen Buckman: I I would second that sentiment to things, you know, something like a tiff.

253
00:35:42.870 --> 00:35:46.370
Stephen Buckman: I think, has a much stronger chance than a bid

254
00:35:47.770 --> 00:35:50.890
Stephen Buckman: it, just because tips allow so much.

255
00:35:51.030 --> 00:36:05.580
Stephen Buckman: and that's the other thing. But what would go into that, of course, is the fact that many of these present day Owners of these buildings would go away right, and you would get no, you know ownership to come in and and raise these buildings, or to rehab the buildings

256
00:36:05.640 --> 00:36:10.440
Stephen Buckman: create a new development kind of structure, because, you know, as we.

257
00:36:10.560 --> 00:36:18.340
Stephen Buckman: I think all 3 0f us have pointed out it's, it's it's going to be hard for those absentee landlords which many of these, or or they're part of a large portfolio.

258
00:36:19.170 --> 00:36:24.600
Stephen Buckman: you know. That's just a line. Item, right. It's just another line item on all on a bunch of properties they have.

259
00:36:24.730 --> 00:36:27.200
Stephen Buckman: and that's going to be much harder for them to really

260
00:36:27.230 --> 00:36:39.640
Stephen Buckman: kind of buy it into that, and and he does also this local. I couldn't think of the town i'm in right. It was local developers that took it on via tiff right to do it. Change the complete face of downtown Greenville, South Carolina.

261
00:36:41.100 --> 00:36:44.980
Stephen Buckman: and in that and it green built. But try very hard to.

262
00:36:45.110 --> 00:36:48.180
Stephen Buckman: Nobody wanted to develop down here right because

263
00:36:48.260 --> 00:36:51.920
Stephen Buckman: it was a wasteland, and it took those kind of bell cows to do it.

264
00:36:52.280 --> 00:37:01.340
Stephen Buckman: and even then they had to get heavily incentivized to do it. So there therein lies kind of the rub, I think, and I think we're what the 3 0f us are might be saying very similar to

265
00:37:03.790 --> 00:37:10.430
Celen Pasalar: all right.

266
00:37:12.500 --> 00:37:30.730
Imran : Yes, hi, Chilin! Hi, everybody! I agree with all the comments that were already made, and I I think everyone's already said what I was thinking. But i'll just add that the challenge to with the image that you all showed with the 2 different typologies, the kind of complete street in the middle of an existing suburban street is that

267
00:37:30.810 --> 00:37:36.730
Imran : the retailers rely on visibility? It's kind of essential to their business model.

268
00:37:36.790 --> 00:37:48.620
Imran : And so I I think, having like a hybrid of those 2 is also untenable. The retail model in the suburban environments is about the volume of Eyeballs volume of traffic. While you have people coming in and out.

269
00:37:48.730 --> 00:38:02.680
Imran : and as soon as you block that with this kind of urban streets that that retail model becomes a lot more difficult, even if you're attracting more people to this area just because of the the more vibrant streets that you're presenting. So I think

270
00:38:03.020 --> 00:38:10.840
Imran : a a challenge here is just showing that hybrid model versus, as I think, many of the folks I've already mentioned. It's about entirely redeveloping

271
00:38:10.850 --> 00:38:12.760
this corridor.

272
00:38:12.940 --> 00:38:17.460
Imran : and and not just carving out a piece of in the middle and and putting an urban center there.

273
00:38:18.070 --> 00:38:24.460
Daniel Guimond: Yeah, you probably only you probably only looking at the image at the top. S0 0ne at the bottom you

274
00:38:24.520 --> 00:38:28.900
Daniel Guimond: you going from a a, a suburban arterial

275
00:38:29.020 --> 00:38:32.630
Daniel Guimond: single-use, commercial buildings to a mixed use

276
00:38:33.390 --> 00:38:38.590
kind of setting with 3 4 story buildings, which is likely

277
00:38:39.310 --> 00:38:49.800
Daniel Guimond: residential over retail, or even possibly office over retail. But I mean I could see that happening for 2 0r 3

278
00:38:49.820 --> 00:38:51.860
Daniel Guimond: blocks on

279
00:38:52.010 --> 00:38:56.440
Daniel Guimond: on a quarter. But the rest of the core is still going to be more

280
00:38:56.790 --> 00:39:07.590
Daniel Guimond: single use commercial in nature, and I think all you can really try and do is improve the the safety and

281
00:39:07.740 --> 00:39:15.260
Daniel Guimond: and quality of the road by trying to get more buildings up. you know, less

282
00:39:16.100 --> 00:39:27.640
Daniel Guimond: plus parking in the front. Get the buildings, try and encourage the buildings to be, you know, and improve the the street front edge, and try and create an environment where

283
00:39:27.900 --> 00:39:34.660
Daniel Guimond: these these sites can be improved and and built in a less

284
00:39:35.070 --> 00:39:52.640
Scott Polikov: that sort of 1950 60 seventies kind of format. Yeah, I I agree. I want to have one more thing, too, because you can see it as I was referencing earlier the the parkways without on the on left side. You've got a large parkway with the sidewalk that should be lit with street trees

285
00:39:52.660 --> 00:40:02.200
Scott Polikov: within the right away, or if it's not right away, that then you can get an easement if you're not taking parking, surely from the property owners if you're if the public's paying for it.

286
00:40:02.250 --> 00:40:21.120
Scott Polikov: and at the same time I think access management. And then I agree with Daniel the node nodal notion, and then the intersections. I don't want to jump ahead because I I don't want to suggest what I haven't seen. Question wise, but I think I agree with Daniel in that there's a lot you can do with in the top picture within the right way, or at least Eastern's. If those parkways are known privately

287
00:40:21.120 --> 00:40:28.240
to get a continuous walking experience where the sidewalk is not next to the curb, without actually taking out curves which are expensive.

288
00:40:30.670 --> 00:40:39.050
Mike Brown: All really good feedback. Thanks, everybody. My, we have. Jared, also, I think, would like to say something very quickly.

289
00:40:40.580 --> 00:40:47.820
Jared Draper: Thanks. I'm not gonna disagree with anyone that said anything. I just wanted to note that a transformation from

290
00:40:47.980 --> 00:40:50.850
Jared Draper: the top picture to the bottom picture.

291
00:40:50.970 --> 00:40:55.560
Jared Draper: whether or not we're talking about for a few blocks also

292
00:40:55.640 --> 00:40:56.990
Jared Draper: requires

293
00:40:57.100 --> 00:41:14.820
Jared Draper: other street network that probably doesn't exist today in that top picture. Right? You're talking about a streets and B streets and other kind of redundancy that really makes the street like in the bottom work, you know. So there's some other things that need to be planned other than just the street frontage

294
00:41:14.820 --> 00:41:36.900
Jared Draper: here. There's other network that needs to be kind of added in so Greenville, South Carolina is a great example. Right? You have a great main street, but you have other corridors that are parallel. You have shorter blocks that cross it again when you're redeveloping these large commercial kind of one. You know, one building type of sites with a lots of parking that means reworking a lot

295
00:41:36.900 --> 00:41:43.430
Jared Draper: of their parking and infrastructure and utilities, and therefore costs just starts to grow and grow and grow

296
00:41:45.410 --> 00:41:58.500
Mike Brown: good insights. I love all this. My take away is that it has to be short. You don't take on an entire long length of quarter all at once just a the few blocks where it's the most likely to succeed.

297
00:41:58.780 --> 00:42:07.750
Mike Brown: and some kind of hybrid. So, at least in terms of graphics, we would not jump to the 30 0r 40 year mark

298
00:42:07.940 --> 00:42:12.270
Mike Brown: immediately, but instead, show kind of a transitioning and

299
00:42:12.620 --> 00:42:20.470
Mike Brown: and some things like that. So, all right, we're gonna g0 0n to the next set of questions. Go ahead and answer these.

300
00:42:21.470 --> 00:42:24.220
Mike Brown: I think we'll do a little less discussion about these.

301
00:42:26.280 --> 00:42:28.520
Mike Brown: because we gotta get on to

302
00:42:29.690 --> 00:42:30.980
Mike Brown: some of the other

303
00:42:31.460 --> 00:42:33.830
important things we want to ask you.

304
00:42:42.430 --> 00:42:48.200
Jared Draper: There's not a option for this one for being familiar, but not driving on them frequently.

305
00:42:48.820 --> 00:42:49.510
Mike Brown: No.

306
00:42:50.730 --> 00:42:54.600
Daniel Guimond: Okay. So there's just one question here.

307
00:42:56.730 --> 00:42:57.680
Daniel Guimond: Is that right?

308
00:42:59.050 --> 00:43:02.000
Mike Brown: That that's correct? Yes. Okay.

309
00:43:03.120 --> 00:43:04.450
Mike Brown: Then there's a

310
00:43:04.850 --> 00:43:09.050
Mike Brown: I think we can. After you answer that. Let's g0 0n to this one, too.

311
00:43:14.250 --> 00:43:22.090
Mike Brown: This one's talking about just that strode type by the end. Yeah, they use one word or phrase

312
00:43:23.860 --> 00:43:26.040
Mike Brown: to describe it. What would it be?

313
00:43:28.590 --> 00:43:31.570
Mike Brown: And you can answer more than once if you want to?

314
00:44:30.870 --> 00:44:35.780
Yes, if you see those up there and agree with some of them. I want a seconded. You can probably also

315
00:44:36.130 --> 00:44:38.080
Mike Brown: we type the same words.

316
00:45:00.370 --> 00:45:05.780
Mike Brown: Yeah, I don't know if anyone started this one yet. Maybe I have to activate it first.

317
00:45:06.640 --> 00:45:09.980
Mike Brown: do I? If I move on, does it deactivate the other one?

318
00:45:10.840 --> 00:45:11.580
Celen Pasalar: Good.

319
00:45:12.660 --> 00:45:14.460
Celen Pasalar: It should be okay, yeah.

320
00:45:16.140 --> 00:45:19.010
Celen Pasalar: I think there's one person typing at the moment.

321
00:45:19.530 --> 00:45:20.330
Mike Brown: No.

322
00:45:20.460 --> 00:45:24.150
okay. You can move on to the next one. Now.

323
00:45:24.730 --> 00:45:29.810
Mike Brown: all right. So this one is now thinking about the after case.

324
00:45:30.390 --> 00:45:35.220
The complete street do the same thing for that.

325
00:47:05.390 --> 00:47:10.650
Mike Brown: All right. This is all good stuff. So we done with this one.

326
00:47:10.690 --> 00:47:11.620
Celen Pasalar: Yes.

327
00:47:12.190 --> 00:47:13.030
Mike Brown: okay.

328
00:47:14.420 --> 00:47:18.330
Mike Brown: So now here's some questions: strode versus complete street.

329
00:47:21.220 --> 00:47:22.380
Mike Brown: So.

330
00:47:23.710 --> 00:47:29.600
Mike Brown: considering over.

331
00:47:33.180 --> 00:47:34.020
Mike Brown: Yes.

332
00:49:45.160 --> 00:49:46.940
Mike Brown: starting to get some more.

333
00:52:02.720 --> 00:52:06.110
Celen Pasalar: I think. Very good, Mike.

334
00:52:06.750 --> 00:52:12.840
Mike Brown: All right. Well, I've been cycling through the responses. I hope that You've been looking at those as I've been.

335
00:52:13.860 --> 00:52:16.180
If you finish this, you can kind of see

336
00:52:16.870 --> 00:52:21.580
Mike Brown: the general results. Will this complete street result in lower, slower traffic.

337
00:52:22.020 --> 00:52:24.440
Mike Brown: Most think that that it will.

338
00:52:25.730 --> 00:52:29.120
Mike Brown: Well, it's per walkable development, most things that it will.

339
00:52:30.990 --> 00:52:42.680
Mike Brown: What is the track? Large numbers of retiring seniors when they can or shouldn't drive. That's exactly what it looked like on Friday. It was a perfect pyramid, just like that.

340
00:52:45.540 --> 00:52:46.640
Mike Brown: That was My!

341
00:52:49.150 --> 00:52:56.780
Mike Brown: If it If a new street traverses a wealthy area. Could it introduce portable housing? In a way the adjacent neighborhoods can accept.

342
00:52:57.350 --> 00:52:59.090
Mike Brown: Most thing. Probably not.

343
00:53:00.440 --> 00:53:03.390
Mike Brown: or at least that's it. Oh, No, no, i'm wrong about it.

344
00:53:03.960 --> 00:53:12.560
Mike Brown: Actually, there's more on the probably it could side than probably not. It's just that the 2, as a bigger bar.

345
00:53:14.370 --> 00:53:19.410
Mike Brown: It's a new street traverses the blinded or struggling area. Could it be a means of stabilizing the area?

346
00:53:20.290 --> 00:53:24.510
Mike Brown: It looks like most are in different to that. But some think it could.

347
00:53:27.930 --> 00:53:37.330
Mike Brown: So me an ideal location where the market definitely would respond. What could prevent this transition from happening? Traffic Engineers Won't agree to it.

348
00:53:39.470 --> 00:53:41.730
Mike Brown: That's the number one right.

349
00:53:42.660 --> 00:53:48.910
Mike Brown: and then be the devil, you know, is better than a devil. You don't business, and property owners will demand compensation.

350
00:53:49.240 --> 00:53:56.830
Mike Brown: Our disease, and this is more of a great, all very good. Okay. On to the next set of the next thing.

351
00:53:57.110 --> 00:53:58.820
Mike Brown: See what you think about this

352
00:53:59.190 --> 00:54:11.510
Mike Brown: neighborhood. Electric vehicles and low emission alternative network to lean network. So let's talk about that a little bit. So what are any of these? And what is the long alternative emission network.

353
00:54:13.120 --> 00:54:19.340
Mike Brown: This is a phenomenon that has caught on in a couple of communities, and it's poised to grow

354
00:54:19.720 --> 00:54:24.330
Mike Brown: if conditions are right for it. So

355
00:54:24.390 --> 00:54:31.780
Mike Brown: There's a couple of articles that have been published recently about. The the one is the disruptive power of my mini mobility.

356
00:54:32.100 --> 00:54:36.900
Mike Brown: and then the other. Why golf cards can quietly.

357
00:54:37.950 --> 00:54:49.170
Mike Brown: This is a photo from the villages in Florida. They've got a lot of basically golf cart paths in the community, and people use those paths to go shopping and d0 0ther errands.

358
00:54:49.800 --> 00:54:51.640
Mike Brown: And now

359
00:54:51.720 --> 00:54:55.370
Mike Brown: there's a new type of vehicle starting to come out.

360
00:54:55.870 --> 00:55:08.350
Mike Brown: and they're a little like sexier than golf cards. They're They're like miniature cars. And with battery technology improving It's easier to have climate controlled interiors

361
00:55:08.670 --> 00:55:15.180
Mike Brown: vehicles that don't go all that fast. They They might g0 25 miles an hour. Top speed.

362
00:55:16.970 --> 00:55:22.830
Mike Brown: but you can haul something home from the store with it. You can take somebody with you

363
00:55:23.390 --> 00:55:27.710
Mike Brown: there's emerging markets for this type of thing.

364
00:55:27.910 --> 00:55:36.330
Mike Brown: and you can see here that they are so tiny that they occupy a really small footprint in terms of parking.

365
00:55:36.920 --> 00:55:42.280
This is a shot from a high school in Peachtree, Georgia that I took.

366
00:55:43.820 --> 00:55:47.470
Mike Brown: They also have these networks of of

367
00:55:48.090 --> 00:56:02.620
Mike Brown: golf cart paths, and because of that a lot of families. Instead of being 2 car households, They're becoming one car, one cart households. and 40% of all of the cars. All the vehicles parked at this High school are golf cards.

368
00:56:03.030 --> 00:56:07.020
Mike Brown: It's 250 cards per acre versus a 110,

369
00:56:07.310 --> 00:56:14.580
Mike Brown: So the idea is, if we intentionally try to support this type of vehicle

370
00:56:15.390 --> 00:56:17.810
can we can that

371
00:56:18.210 --> 00:56:20.240
Mike Brown: be leveraged to help

372
00:56:20.480 --> 00:56:27.030
Mike Brown: catalyze walkable. Mixed use areas by converting some of the parking

373
00:56:27.510 --> 00:56:29.900
Mike Brown: needs into smaller vehicle needs

374
00:56:30.140 --> 00:56:38.040
Mike Brown: and supporting People's ability to do run around Aaron's in the same way they do in their regular car, but they're doing it in a you know.

375
00:56:38.210 --> 00:56:46.720
Mike Brown: more neighborhood type vehicle. So here's a Here's a picture of a similar shot of that same quarter I showed before

376
00:56:47.840 --> 00:56:59.210
Mike Brown: the red right away lines. Now, in this shot it's the same cross-section view from a different location. But you can see that we've got within those teal lanes

377
00:56:59.390 --> 00:57:00.420
Mike Brown: our

378
00:57:00.510 --> 00:57:05.820
Mike Brown: tiny electric vehicles as well as the bicycles, and

379
00:57:06.260 --> 00:57:07.800
Mike Brown: and you've also got

380
00:57:09.090 --> 00:57:20.550
Mike Brown: row of parking here. Now. given what we just talked about, the row of parking doesn't necessarily need to be right here on street. But if we were to intentionally

381
00:57:20.790 --> 00:57:25.420
Mike Brown: say, hey, let's try to make it easy for these little machines to

382
00:57:26.160 --> 00:57:29.750
Mike Brown: maneuver find a place to part.

383
00:57:29.800 --> 00:57:33.140
Mike Brown: They don't have to conflict with the high speed traffic.

384
00:57:33.680 --> 00:57:36.920
Mike Brown: If we did, that, would that be a good thing?

385
00:57:37.370 --> 00:57:38.290
Mike Brown: So

386
00:57:38.480 --> 00:57:41.820
Mike Brown: now got some questions about that, so

387
00:57:43.440 --> 00:57:45.170
Mike Brown: go ahead and weigh in on that.

388
00:59:44.360 --> 00:59:46.460
Mike Brown: All right. Are you done?

389
00:59:46.900 --> 00:59:51.540
Celen Pasalar: Yes. and just so that you know, Mike, it's 1 31.

390
00:59:52.300 --> 00:59:56.280
Thank you. So we've got 1Â h to go. So

391
00:59:57.400 --> 01:00:02.560
Mike Brown: all right, you can all see how everyone responded. This is very helpful.

392
01:00:07.390 --> 01:00:13.150
Mike Brown: So let's see all right. Gonna move on to the next part

393
01:00:13.630 --> 01:00:18.840
Mike Brown: gonna talk to you a little bit about traffic engineering 101.

394
01:00:18.950 --> 01:00:26.500
Mike Brown: Why, stroes are both fast and slow, and i'll give you an overview of these place, making alternative intersections that we hope you'll weigh in on.

395
01:00:29.430 --> 01:00:33.590
Mike Brown: So what is it exactly that causes these stones to be slow?

396
01:00:33.840 --> 01:00:39.500
Mike Brown: They have fast speed limits, but they're not particularly fast, and here's why

397
01:00:40.130 --> 01:00:48.840
Mike Brown: it's it's a big part of the reason is that they have what we call 4 phase traffic signals, and you could see the the phases right there.

398
01:00:49.160 --> 01:00:57.490
Mike Brown: Phase number one. You have. These left turns going in phase 2. Then it's through. Phase 3 is the next set of left turns and paves for

399
01:00:57.620 --> 01:01:07.450
Mike Brown: so it's these tr. These left turn arrows, and one and 3 that make things a little harder to do and in the pie charts you can see. That

400
01:01:07.700 --> 01:01:10.740
means that there's more yellow time and red time.

401
01:01:11.010 --> 01:01:22.380
Mike Brown: Then if you had a two-phase signal that didn't have the left turn arrows. and then, whatever green time you have, some of it gets dedicated to the left turns, which is a kind of a minor movement.

402
01:01:22.600 --> 01:01:28.840
Mike Brown: If there were a way to give more green time to to the bigger bulk of traffic.

403
01:01:29.020 --> 01:01:36.050
Mike Brown: then you would be able to have less delaying. And then, if you had less delay. Yeah, Doug

404
01:01:36.080 --> 01:01:39.780
Mike Brown: Tortoise, and the hair story up there shows that

405
01:01:40.470 --> 01:01:43.050
Mike Brown: you might be able to reduce the speed limit

406
01:01:43.300 --> 01:01:54.640
Mike Brown: and still demonstrate in traffic analysis, software that people will still get through the system faster than they did before, even though you've reduced the speed limit.

407
01:01:55.840 --> 01:01:58.260
Mike Brown: And so here's a

408
01:01:58.560 --> 01:02:08.300
Mike Brown: cross-section of one of these strodes, and a and an overview of that intersection, you can see that add a typical strode intersection

409
01:02:08.680 --> 01:02:18.600
Mike Brown: it's a 150 feet to cross it. That's half a football field, and I saw a couple of guys run that distance last night. But

410
01:02:19.140 --> 01:02:22.880
Mike Brown: no. it's pretty pretty far

411
01:02:24.670 --> 01:02:29.100
Mike Brown: so, and you can see that when we overlay all those movements

412
01:02:29.110 --> 01:02:31.580
it kind of creates a bit of a tangled not.

413
01:02:31.780 --> 01:02:42.080
Mike Brown: And that's why traffic engineers not having a hard time getting you through these places because it is a bit of a tangle. Not there's too much going on at the same point.

414
01:02:42.600 --> 01:02:44.160
Mike Brown: And so

415
01:02:44.340 --> 01:02:52.700
Mike Brown: the so what a lot of our research is focused on is, how do you untangle that? Not? And

416
01:02:53.910 --> 01:03:02.110
Mike Brown: And this is one of those ideas for doing that, and this one's called a quadrant intersection. and you can see here that

417
01:03:02.610 --> 01:03:07.120
the red paths, if you can find some kind of a back way path.

418
01:03:07.990 --> 01:03:15.550
Mike Brown: Then you can direct the left turns on that back way path, and you don't have to deal with them right there in the middle of the main intersection.

419
01:03:16.130 --> 01:03:18.520
Mike Brown: So, by doing this.

420
01:03:19.790 --> 01:03:31.720
Mike Brown: it's allows you to do planted meetings all the way to the main intersection, and even through the intersection, so that you have pedestrian refuge right directly in the intersection.

421
01:03:33.830 --> 01:03:38.580
Mike Brown: because there's now some activity on the through this

422
01:03:38.790 --> 01:03:47.760
Mike Brown: back pathways that wasn't there before. You might have you have better access and some more visibility to the acres along that area.

423
01:03:47.960 --> 01:03:50.650
Mike Brown: so that might be able to

424
01:03:50.820 --> 01:03:52.990
Mike Brown: kick, start a little bit of

425
01:03:53.510 --> 01:03:59.380
Mike Brown: walkable development that had no means of being activated before.

426
01:03:59.960 --> 01:04:05.660
Mike Brown: The blue path is a is an indirect path of indirect way To do a left turn.

427
01:04:06.020 --> 01:04:08.750
Mike Brown: It's tricky to

428
01:04:09.910 --> 01:04:15.080
Mike Brown: convince the public that this is a good thing, the out of direction travel to make a turn like that.

429
01:04:15.580 --> 01:04:16.370
Mike Brown: But

430
01:04:16.500 --> 01:04:24.630
Mike Brown: through the software we can often show them that they actually get to where they're going faster, even if they have to go a bit of a longer distance.

431
01:04:24.960 --> 01:04:38.920
Mike Brown: because there's just less congestion overall. So that's what a quadrant intersection is! The next idea is a U-turn intersection. and in the top you can see that the purple car

432
01:04:39.100 --> 01:04:44.430
Mike Brown: needs a a left turn arrow in order to make the crossing safely.

433
01:04:44.790 --> 01:04:53.790
Mike Brown: and in the bottom one we are denying them. They cannot make a left turn arrow well left, turn at the main intersection. Instead, they have to go through it

434
01:04:54.070 --> 01:04:57.860
Mike Brown: and go around the round about and make a Ryan turn that way.

435
01:04:58.010 --> 01:05:04.010
Mike Brown: That's how they would do that maneuver and the

436
01:05:05.230 --> 01:05:10.980
Mike Brown: the blue and the yellow cars are kind of in a similar situation. It's it's a

437
01:05:11.480 --> 01:05:15.830
Mike Brown: if you if you're the yellow car, especially pulling out onto a big.

438
01:05:16.180 --> 01:05:18.810
Mike Brown: busy road like that fast moving with

439
01:05:18.880 --> 01:05:24.840
Mike Brown: 2 lanes each direction. It's a pretty unsafe thing to do, and traffic engineers will often

440
01:05:25.190 --> 01:05:31.620
Mike Brown: do a raised median where they just put a piece of concrete in the middle and make it so that you cannot do that.

441
01:05:32.150 --> 01:05:35.770
Mike Brown: What the roundabouts do is they make it so that you

442
01:05:37.460 --> 01:05:43.010
Mike Brown: have a way to get back to where it came from. So it it's a little safer and nicer.

443
01:05:43.210 --> 01:05:46.930
Mike Brown: and they also create a traffic calming situation where

444
01:05:47.140 --> 01:05:50.330
Mike Brown: vehicles slow down as they enter the space.

445
01:05:50.860 --> 01:06:01.770
Mike Brown: So that is a little bit about what you turn. Intersection is, they're not always roundabouts. I'll show you some examples where there's they can be something other than roundabouts. But the basic idea is pretty much the same.

446
01:06:03.240 --> 01:06:12.490
Mike Brown: And then this other one is called a one-way split intersection. There are some examples of this that exist like this one. In San Diego

447
01:06:12.980 --> 01:06:21.530
Mike Brown: was a new green field area, where, instead of having 2 large highways come together and create another one of those strode intersections.

448
01:06:22.160 --> 01:06:27.370
Mike Brown: this one intentionally split the stream coming into the space

449
01:06:27.400 --> 01:06:30.930
Mike Brown: and made for tiny intersections instead of

450
01:06:31.080 --> 01:06:36.320
Mike Brown: of a single huge one. So the photographs on the right there are

451
01:06:36.640 --> 01:06:40.980
Mike Brown: some of those small intersections, 2 0f the 4 small intersections.

452
01:06:41.820 --> 01:06:50.740
Mike Brown: This one is pretty efficient in terms of traffic movement. It's partly because, like you can do a right on red

453
01:06:51.230 --> 01:06:54.730
Mike Brown: at any intersection today. You can also do a left on red

454
01:06:55.070 --> 01:07:00.000
Mike Brown: at an intersection like this, because there's n0 0ncoming traffic when you're making a left turn.

455
01:07:00.630 --> 01:07:08.320
Mike Brown: and each of the tracks. Each of the signals is a 2 phase signal instead of a 4 phase. So that's some of the reasons why it's efficient for traffic.

456
01:07:10.000 --> 01:07:14.520
Mike Brown: So with those 3 designs in mind, we took

457
01:07:14.540 --> 01:07:23.560
Mike Brown: some sites in Greenville, North Carolina, and Smithfield, which I my dot isn't there. But it's in Justin County, right there, close to Raleigh.

458
01:07:24.000 --> 01:07:34.970
Mike Brown: you can see the context of where these places are. Greenville is a city of 88,000 people in a county of almost 200,000 it's 84 miles from Raleigh Smithfield.

459
01:07:35.300 --> 01:07:39.430
Mike Brown: is it? My is a very small community. Only 13,000, people.

460
01:07:39.440 --> 01:07:44.640
Mike Brown: but the county is just over 200,000. It's it's close to Raleigh.

461
01:07:44.720 --> 01:07:46.320
Mike Brown: only 31 miles.

462
01:07:46.760 --> 01:07:53.410
Mike Brown: and there's a lot of motivation for people to move into somewhat rural areas right now, because of

463
01:07:53.580 --> 01:07:59.160
Mike Brown: remote working and other factors. So we think that this is a community is likely to grow.

464
01:08:01.380 --> 01:08:13.300
Mike Brown: I'll show you some diagrams now of the Greenville area. So here's just a context of Green Bill, downtown East Carolina University. There's the Medical Center, and then there's the Greenville Mall

465
01:08:13.620 --> 01:08:17.430
Mike Brown: and some strip retail. So that's where we're going to be focusing on.

466
01:08:18.620 --> 01:08:28.700
Mike Brown: So here is the idea for quadrant intersections, both in Greenville and Smithfield. What is your looking at? These? Think? Yes, they're in Greenville, but

467
01:08:28.930 --> 01:08:36.330
Mike Brown: they could be anywhere. They could be in Raleigh, Charlotte, or anywhere. So Don't get caught up in the fact that they're in Greenville.

468
01:08:37.890 --> 01:08:41.470
Mike Brown: And here's the the site.

469
01:08:42.970 --> 01:08:45.819
Mike Brown: the Greenville site. So there's basically

470
01:08:46.160 --> 01:08:55.630
Mike Brown: the 3 different things I just showed you are all here. Number One is the Quadrant concept. and we'll show you that first. Then after that we'll go t0 2,

471
01:08:56.069 --> 01:09:00.970
Mike Brown: which is the U-turns and then number 3, is the one way concept, and you can see that

472
01:09:01.260 --> 01:09:02.870
Mike Brown: this particular one way.

473
01:09:03.100 --> 01:09:06.450
Mike Brown: The blue buildings are buildings, that

474
01:09:07.630 --> 01:09:19.979
Mike Brown: the the the Mall is the biggest one there. and it would require coordination with them all in order to make that happen. You wouldn't do it until the Mall itself said, hey, we need to reinvent ourselves, and we like your idea.

475
01:09:20.340 --> 01:09:28.689
Mike Brown: or how to reinvent. So that would be how that works. But let's move on to the Quadrant location now, and i'll show you this one.

476
01:09:29.540 --> 01:09:35.460
Mike Brown: So this is a before situation the way it is right now pretty much that that

477
01:09:35.790 --> 01:09:38.680
Mike Brown: northwest corner that I just showed.

478
01:09:38.910 --> 01:09:44.670
Mike Brown: And then this you can see the the 4 phase, signal, 1 2 3,

479
01:09:45.140 --> 01:09:56.780
Mike Brown: or and then that tied in the not situation which is right there. and because it's all tied in the not the the top right.

480
01:09:56.890 --> 01:10:03.290
Mike Brown: Mar chart shows that today the intersection candle 3,700 vehicles per hour.

481
01:10:03.830 --> 01:10:19.250
Mike Brown: But when we go to a quadrant concept now, the the overall system can handle 5,700 vehicles per hour. So it's a 54% increase over what it could handle before.

482
01:10:19.780 --> 01:10:23.560
Mike Brown: And the reason, then, is because we've relocated these left turns.

483
01:10:24.640 --> 01:10:29.390
Mike Brown: They g0 0n those paths now. and so now the

484
01:10:29.490 --> 01:10:38.540
Mike Brown: the middle main intersection only has to deal with the through it doesn't have to deal with the left. and that's why the system can handle more traffic.

485
01:10:38.920 --> 01:10:43.700
because it can handle more traffic. We think it can also handle more development

486
01:10:43.970 --> 01:10:48.580
Mike Brown: today. It's pretty much maxed out. If somebody comes in to try to build something new.

487
01:10:49.420 --> 01:10:53.380
Mike Brown: even if it's walkable, it's still gonna have

488
01:10:53.950 --> 01:10:56.510
Mike Brown: traffic associated with it, and

489
01:10:56.600 --> 01:10:58.880
Mike Brown: and it makes it more congested.

490
01:10:59.360 --> 01:11:05.500
Mike Brown: We think that in this case the floor area ratio currently, which stands about point 1 4

491
01:11:05.620 --> 01:11:08.160
Mike Brown: could be raised t0 0 point 5 2

492
01:11:08.620 --> 01:11:14.060
Mike Brown: before it starts to generate so much traffic that it would create congestion again.

493
01:11:14.670 --> 01:11:18.770
Mike Brown: So that's the general capacity of the system.

494
01:11:18.790 --> 01:11:25.560
Mike Brown: It's not to say that the market can actually achieve a point 5 t0 2 far only that the system can support that much.

495
01:11:27.350 --> 01:11:28.460
Mike Brown: So

496
01:11:28.550 --> 01:11:31.720
Mike Brown: no. And they'll yeah.

497
01:11:31.870 --> 01:11:35.950
Mike Brown: Here's just another view of that same main intersection of the quadrant.

498
01:11:36.090 --> 01:11:37.920
This is what you got right now.

499
01:11:38.480 --> 01:11:40.990
Mike Brown: This is the way it could look.

500
01:11:41.160 --> 01:11:42.610
Mike Brown: you know, focused

501
01:11:43.930 --> 01:11:47.280
Mike Brown: a kind of a mixed use node where we're just trying to say

502
01:11:47.380 --> 01:11:52.270
Mike Brown: 30 years from now, after we've built this, maybe some of this is started to

503
01:11:52.430 --> 01:11:53.620
Mike Brown: look like this.

504
01:11:55.270 --> 01:11:57.990
Mike Brown: We did a measurement that if

505
01:11:58.010 --> 01:12:06.090
Mike Brown: if the market succeeded in creating that 4 area rati0 0f 0 point 5 2, it would offset 330 acres of suburban

506
01:12:06.140 --> 01:12:09.300
Mike Brown: sprawl and about 9 miles of road.

507
01:12:09.380 --> 01:12:17.480
Mike Brown: So, even though it's rather expensive to create the roads here, there might be an argument that you've saved a lot of money in other places

508
01:12:17.490 --> 01:12:22.320
Mike Brown: by not building 9 miles of suburban sprawl. and maybe that

509
01:12:22.420 --> 01:12:25.810
Mike Brown: has a means of partially funding this.

510
01:12:27.710 --> 01:12:30.370
Mike Brown: So now here's the

511
01:12:30.450 --> 01:12:31.950
Mike Brown: site at Smithfield.

512
01:12:32.300 --> 01:12:35.870
Mike Brown: It's near there, Unc Johnston hospital.

513
01:12:35.940 --> 01:12:41.630
Mike Brown: It combines, Quadrant and U-turn, and one way all into the same basic small area

514
01:12:41.880 --> 01:12:46.760
Mike Brown: on the bottom. You can kind of see the one ways there's a north down splitting with the southbound

515
01:12:46.890 --> 01:12:48.580
Mike Brown: at the top. We've got a

516
01:12:49.880 --> 01:12:54.630
Mike Brown: a a u-turn type thing. It's not a round about, but it's what I call a tear drop

517
01:12:54.860 --> 01:13:02.510
Mike Brown: and then there's also quadrant paths. So you can see here how the the red dotted line follows it.

518
01:13:02.770 --> 01:13:06.250
Mike Brown: A new path. and that means that.

519
01:13:06.290 --> 01:13:09.850
Mike Brown: And so that's one of them. Then this is the other

520
01:13:09.980 --> 01:13:14.320
Mike Brown: way that the other direction might go to complete their left turn.

521
01:13:15.080 --> 01:13:24.430
Mike Brown: So the top one they'd make a right turn and go around the U-turn, and that's how they do it. Then down here they kind of go around the one way system and do that.

522
01:13:24.550 --> 01:13:34.440
Mike Brown: That leaves the center intersection pretty clean. It only has to support the 2 through movements and not the left turn movements.

523
01:13:35.500 --> 01:13:41.360
Mike Brown: So the hypothesis here is that if you had this type of walkable setting

524
01:13:41.690 --> 01:13:47.220
Mike Brown: with the hospital. It might be a really good thing in a hospital environment, because you've got

525
01:13:47.230 --> 01:13:53.890
Mike Brown: seniors and people who, for whatever reason, are not capable of driving very well, and they might

526
01:13:54.310 --> 01:13:56.920
find it convenient to live

527
01:13:57.450 --> 01:14:00.870
Mike Brown: in this area where they need medical services frequently.

528
01:14:00.960 --> 01:14:05.280
Mike Brown: maybe maybe long term, and maybe just a month or 2. So some of this stuff.

529
01:14:05.740 --> 01:14:10.650
Mike Brown: so it seems like it might be a good thing in a hospital environment to create

530
01:14:10.860 --> 01:14:12.260
Mike Brown: this type of thing.

531
01:14:12.880 --> 01:14:19.010
Mike Brown: There's another close up of that you can see again a little bit of the left turn action that becomes

532
01:14:19.570 --> 01:14:20.890
Mike Brown: possible there.

533
01:14:21.170 --> 01:14:24.020
Mike Brown: and this is a close up of that U turn.

534
01:14:24.300 --> 01:14:31.570
Mike Brown: We've got a Diesel truck turning around in it because it is a corridor that has large trucks occasionally, and you need to make a way for them to.

535
01:14:31.840 --> 01:14:37.290
Mike Brown: If they can't turn left right here, then how are they going to turn left? And and we make a way

536
01:14:37.870 --> 01:14:38.690
Mike Brown: to do that.

537
01:14:41.230 --> 01:14:46.190
Mike Brown: So we're going to pause now for a another set of slide. Oh, questions

538
01:14:46.550 --> 01:14:49.270
Mike Brown: about this quadrant intersection concept.

539
01:14:50.710 --> 01:14:57.960
Mike Brown: Go ahead and just answer those questions. But while people are answering the questions I think we want to just

540
01:14:58.820 --> 01:15:05.070
Mike Brown: open up to for just general discussion on this idea of the quadrant.

541
01:15:06.240 --> 01:15:07.340
Mike Brown: so

542
01:15:07.560 --> 01:15:11.590
Mike Brown: i'm not sure we need to wait till you fill out all of the questions unless you want to.

543
01:16:45.330 --> 01:16:48.650
Wesley Kumfer: I'll just chime in here to share that

544
01:16:49.240 --> 01:16:54.380
Wesley Kumfer: trying to lump multiple modes int0 0ne safety question makes it difficult to answer, and that

545
01:16:54.620 --> 01:17:03.050
this probably does reduce certain kinds of conflicts with motor vehicles. But there's still an awful lot of exposure for someone who is walking or biking through the intersection.

546
01:17:03.300 --> 01:17:06.980
Wesley Kumfer: and still a lot of lanes of traffic for them to try to cross.

547
01:17:10.850 --> 01:17:11.640
Mike Brown: Okay.

548
01:17:12.330 --> 01:17:16.680
Mike Brown: so we do have it's hard to see it in this case. But there are

549
01:17:16.880 --> 01:17:19.970
Mike Brown: refuge Islands opportunities.

550
01:17:20.250 --> 01:17:22.230
Mike Brown: You're aware of that. And considering that

551
01:17:23.850 --> 01:17:24.480
Mike Brown: yeah.

552
01:17:41.160 --> 01:17:43.550
Mike Brown: anybody else want to comment on quadrants.

553
01:17:55.150 --> 01:17:58.180
Scott Polikov: I do think you'll probably have to compensate the

554
01:17:58.700 --> 01:18:01.550
Scott Polikov: the new right away through the backside

555
01:18:02.660 --> 01:18:06.230
again. The likelihood of donations probably pretty low

556
01:18:11.320 --> 01:18:17.170
Scott Polikov: to and redevelopment potential. I think you could probably negotiate down the compensation

557
01:18:20.830 --> 01:18:25.380
Mike Brown: through a demonstration that you've improved the property value

558
01:18:26.340 --> 01:18:27.170
very much.

559
01:18:30.210 --> 01:18:33.590
Scott Polikov: and and I would also add, I think, that that's heavy

560
01:18:33.610 --> 01:18:35.960
needing to work with either depending on

561
01:18:36.170 --> 01:18:43.100
Scott Polikov: the State and the taxing. I know. For example, North Carolina, you collect sales tax through the county.

562
01:18:43.980 --> 01:18:52.020
Scott Polikov: I think you've got also. Then have a commitment from the municipalities and the counties t0 0n private tax and sales tax too.

563
01:18:52.040 --> 01:18:55.820
through tiff or other, whatever vehicles available to

564
01:18:55.920 --> 01:18:57.120
Scott Polikov: be able to

565
01:18:58.120 --> 01:19:07.930
Scott Polikov: justified the public money for the compensation. And I think you can convince the public that make sense because you're going to have an overall net increase in tax base if you get that

566
01:19:08.020 --> 01:19:18.800
Scott Polikov: improvement in the property values and the redevelopment. But again, I think it was Jared who said it earlier. From a system system standpoint in terms of the network. I think the same thing is true. Fiscally.

567
01:19:27.260 --> 01:19:28.750
Mike Brown: i'm not sure it's. The

568
01:19:28.770 --> 01:19:32.160
Mike Brown: The same thing is true fiscally, in terms of the network. Can you explain that? A.

569
01:19:32.720 --> 01:19:36.720
Scott Polikov: No. What i'm saying is the fiscal network? In other words.

570
01:19:36.910 --> 01:19:54.610
Scott Polikov: tying together, property increases, perceived individual ownership benefit to the tax base increases to justify spending the money to compensate the property owners for the acquisition to right away. I mean system of the fiscal proper property owner, interest, and the I. I was making a parallel in terms of

571
01:19:54.740 --> 01:20:10.410
Scott Polikov: you know you can't just red0 0ne cord corridor. You've got to look at the street network. Same thing. You can't just go ask somebody to to to to be to give up right away and compensate them for it, unless the public also, and the policymakers, the county commissions, or the

572
01:20:10.460 --> 01:20:15.530
Scott Polikov: Count or the Council Members are also convinced that there's going to be a fiscal systemic

573
01:20:15.570 --> 01:20:26.200
Scott Polikov: benefit. That's what I meant. I wasn't trying to compare the physical system that Jared was talking about. I was trying to compare the the the notion that the network, the quadrant networks.

574
01:20:26.230 --> 01:20:34.160
Scott Polikov: quadrant intersections, will also require sisters systemic view of the fiscal implications, both from the private sector and the tax base and the policymakers.

575
01:20:34.350 --> 01:20:35.030
Okay.

576
01:20:36.690 --> 01:20:38.300
Celen Pasalar: Jared, please go ahead.

577
01:20:40.320 --> 01:20:43.380
Jared Draper: Thanks, Scott. I think it's a really good point.

578
01:20:43.460 --> 01:20:45.730
Jared Draper: I think the issue I

579
01:20:45.880 --> 01:20:55.200
Jared Draper: kind of per perceive, and the quadrant is the solution, or I guess the the problem you're trying to solve with the quadrant is

580
01:20:55.680 --> 01:21:06.300
Jared Draper: you're looking to minimize some of the delay do the left turns. But the reason that that delay exists is because you have a lot of left turns.

581
01:21:06.410 --> 01:21:11.540
Jared Draper: and you're moving from kind of a one arterial to another

582
01:21:11.610 --> 01:21:16.200
Jared Draper: in some senses, or, you know, arterial to major Collector

583
01:21:16.370 --> 01:21:21.340
Jared Draper: and the environment, or the context that you're showing in that bottom

584
01:21:21.450 --> 01:21:28.060
Jared Draper: picture is really not necessarily where those arterials and collectors may be like. Be.

585
01:21:28.440 --> 01:21:35.080
Jared Draper: You may not have that dense development along those 2, like the intersection of those 2 corridors

586
01:21:35.100 --> 01:21:42.310
Jared Draper: where the quadrant would be needed, and in the I guess, in some of the context, where

587
01:21:42.320 --> 01:21:53.630
Jared Draper: that does exist, where it's arterial to arterial or major collectors those types of intersections. You may have a higher threshold of delay that's acceptable

588
01:21:53.660 --> 01:21:58.460
Jared Draper: in those places. Therefore maybe you don't need a quadrant.

589
01:21:58.670 --> 01:22:03.640
Jared Draper: So because I think that you're you're almost taking away from some of the fabric

590
01:22:03.790 --> 01:22:16.200
Jared Draper: of what would make that corner or that intersection great by trying to add in these quadrant approaches, and could could take away from some of the the public realm space

591
01:22:16.370 --> 01:22:20.780
Jared Draper: approaching here hopefully, that made sense. I felt very jumbled.

592
01:22:28.040 --> 01:22:35.330
Mike Brown: I'm not sure how it is. It's taking away from public real space, because it seems to me that it's adding to it, because when we don't have

593
01:22:35.490 --> 01:22:37.230
Mike Brown: the double left Turns

594
01:22:37.920 --> 01:22:41.530
Mike Brown: the at the main intersection then.

595
01:22:41.700 --> 01:22:46.330
Jared Draper: but you've broken it on both approaches, because you've added in the left turns.

596
01:22:46.750 --> 01:22:59.790
Jared Draper: and another, and it just another place. Yeah, they are in a different place. That's correct. So there's no so no longer. If I if i'm a a bicyclist or person with my family. That's kind of travel along this corridor

597
01:22:59.900 --> 01:23:01.970
all of a sudden. I've got.

598
01:23:02.150 --> 01:23:09.330
Jared Draper: you know, some breaks approaching this intersection. and potentially, you know.

599
01:23:09.880 --> 01:23:12.010
3 along this corridor.

600
01:23:12.280 --> 01:23:15.680
Mike Brown: Okay, so more intersections than there were before.

601
01:23:15.710 --> 01:23:27.690
Jared Draper: Right and again i'm just trying to think of which again is not a big deal when you're in a dense like. If you look at your land use context here, where it is kind of a dense development.

602
01:23:27.730 --> 01:23:35.320
Jared Draper: The number of intersections is something that's pretty routine. But the type of intersection and the type of street that you're along

603
01:23:35.510 --> 01:23:42.150
Jared Draper: is is the difference. Right? You're you're adding in kind of that arterial collector kind of Major street.

604
01:23:42.160 --> 01:23:54.990
Jared Draper: whereas again, i'll use a downtown Greenville, South Carolina. for instance. Right? You have a lot of intersections. You've got a lot of local or smaller streets. There are some bigger ones, but they are.

605
01:23:55.350 --> 01:23:57.420
Jared Draper: you know, one end of town

606
01:23:57.880 --> 01:24:03.570
Jared Draper: in the other end of town, or there's a lot of there's a different spacing to those

607
01:24:19.500 --> 01:24:36.380
Jared Draper: might reduce the concern that you have, and then improve the pedestrian crossing there when there's probably already an unsafe curve cut. Now, yeah, you're thinking about like adding like using the quadrant along with an access management kind of approach that really does kind of create something a little bit more continuous.

608
01:24:37.310 --> 01:24:48.780
Jared Draper: Well, what i'm the only point I was making there is it? If if you're you, you may not want to add a new intersection away from the inner to the backside for the quadrant, where there isn't a current curve cut.

609
01:24:48.810 --> 01:25:08.200
Scott Polikov: But if there's already a high volume curb cut where people are pulling in all the time to go into the back side of Read there at the side of that retail center that's probably already unsafe for pedestrians. And so maybe that's an opportunity to improve what right now is an unsafe curve cup that's a away from existing. Yeah, that's a great point.

610
01:25:08.200 --> 01:25:10.630
Jared Draper: Yeah, you could align that quadrant kind of

611
01:25:10.830 --> 01:25:19.210
Jared Draper: entry exit point with something that already exists. You. You could definitely make it better in the opportunity for that. Back

612
01:25:19.220 --> 01:25:24.520
Scott Polikov: the right away. Acquisition is gonna already be the right location, anyway. From what I can see from the way

613
01:25:24.820 --> 01:25:26.380
Michael and Shelyn

614
01:25:26.710 --> 01:25:31.200
Jared Draper: Timoth have set up these examples. Yeah.

615
01:25:31.990 --> 01:25:38.180
Mike Brown: okay, I think another thing I'm taking from your comment is that in the beginning you don't necessarily.

616
01:25:38.230 --> 01:25:41.180
Mike Brown: you know, aiming at this transformative

617
01:25:41.220 --> 01:25:48.220
Mike Brown: walkable buildings. But you're saying there's a traffic problem that auto that we know how to solve. Better.

618
01:25:48.250 --> 01:25:52.160
Mike Brown: We think we can make it safer for bikes and pedestrians.

619
01:25:52.270 --> 01:25:58.970
Mike Brown: There's not these new buildings or anything. But but if we, if it is safer, and if it is better for traffic, then

620
01:26:00.080 --> 01:26:04.170
Mike Brown: then maybe it's worth doing, and if we do it in a way that can

621
01:26:04.280 --> 01:26:13.620
Mike Brown: that is attractive and and capable of supporting mixed use development, and maybe it's a good thing the city can get on board and rezone and

622
01:26:14.090 --> 01:26:16.440
Mike Brown: and allow for

623
01:26:16.830 --> 01:26:20.950
Mike Brown: so maybe over time this transition happens. But in the beginning.

624
01:26:21.100 --> 01:26:24.010
whether it does or whether it doesn't it's sort of secondary.

625
01:26:24.480 --> 01:26:28.300
Mike Brown: because you've made it better for all all the modes.

626
01:26:29.030 --> 01:26:31.300
Jared Draper: I think that's true. I I

627
01:26:32.290 --> 01:26:37.620
Jared Draper: I think the again where I struggle with this is about.

628
01:26:38.290 --> 01:26:43.910
Jared Draper: You are the goal of the quadrant. Remove the left, turns

629
01:26:44.110 --> 01:26:47.300
Jared Draper: out of that intersection, so there's less delay

630
01:26:47.710 --> 01:26:49.190
Jared Draper: at that intersection.

631
01:26:50.510 --> 01:26:52.300
Jared Draper: Right? So Therefore

632
01:26:52.460 --> 01:27:00.050
Jared Draper: you can have higher volume. and potentially. you know, move people through at a more consistent pace.

633
01:27:00.760 --> 01:27:01.350
Mike Brown: Yup.

634
01:27:02.510 --> 01:27:20.600
Jared Draper: But the higher volume, and that more consistent pace, or the things that add to the safety concerns for non motorized users. So again, Not that I think that all of your points that you just said we're absolutely true is that you could.

635
01:27:20.900 --> 01:27:27.370
Jared Draper: If this was something that was being built and had the opportunity for rezoning.

636
01:27:27.490 --> 01:27:33.270
Jared Draper: I think it would be Really, it could be really valuable land, and it opens up opportunities for development to

637
01:27:33.470 --> 01:27:37.770
Jared Draper: with mixed use. But some of the same purposes

638
01:27:38.280 --> 01:27:40.230
Jared Draper: around those

639
01:27:40.280 --> 01:27:41.760
Jared Draper: around the actual

640
01:27:42.920 --> 01:27:46.430
Jared Draper: quadrant design like what you're trying to accomplish

641
01:27:46.550 --> 01:28:01.970
Jared Draper: are the same things that you'd have to be very careful as new development came in to make sure that you were prioritizing pedestrians, slowing people down at that intersection, making sure that there you have slow turning movements on the right, taking a right

642
01:28:02.070 --> 01:28:06.060
Jared Draper: which also could impact the overall function

643
01:28:07.160 --> 01:28:15.530
Jared Draper: of the intersection, not saying it's impossible. I'm. Just those are like the considerations that I I would be really focused on in the future development

644
01:28:15.770 --> 01:28:19.050
Jared Draper: of that being a walkable, safe corridor or intersection.

645
01:28:20.450 --> 01:28:23.960
Daniel Guimond: Okay, I guess I I guess I see.

646
01:28:24.200 --> 01:28:26.380
Daniel Guimond: I mean, I certainly see the

647
01:28:26.940 --> 01:28:30.680
Daniel Guimond: they the increase in throughput there.

648
01:28:30.780 --> 01:28:32.330
and and

649
01:28:33.440 --> 01:28:39.770
Daniel Guimond: reduction and congestion. I'm not sure. I really see what the benefit is to the

650
01:28:40.730 --> 01:28:45.710
Daniel Guimond: properties to the development properties running in a session. Some ways.

651
01:28:45.820 --> 01:28:51.790
Daniel Guimond: Some ways they're losing a certain amount of visibility because

652
01:28:51.880 --> 01:28:52.680
Daniel Guimond: of.

653
01:28:53.390 --> 01:28:57.680
Daniel Guimond: you know, peeling. Those left turns off a block or 2 before

654
01:28:57.740 --> 01:29:00.960
Daniel Guimond: before you get to the intersection. And

655
01:29:02.030 --> 01:29:05.330
Daniel Guimond: I mean, if you know where you're going. That's fine. If you don't.

656
01:29:06.410 --> 01:29:15.070
Daniel Guimond: I I think the throughput I mean it. It solves a lot of transportation problems. But i'm not sure what it does for real estate.

657
01:29:15.900 --> 01:29:18.430
Stephen Buckman: Yeah, I would agree with that. I mean, you are.

658
01:29:18.670 --> 01:29:25.170
Stephen Buckman: You know, those if you have to peel off early. What happens? Those guys on the corner right, and that.

659
01:29:25.260 --> 01:29:26.040
Stephen Buckman: you know.

660
01:29:26.210 --> 01:29:33.870
Stephen Buckman: Maybe i'm the contrary. But I think the private will lead this the private. It's not going to go down with this render games. It's it's not going to go, not going to happen.

661
01:29:34.230 --> 01:29:36.370
Stephen Buckman: and they're going to be a lot of vocal

662
01:29:37.170 --> 01:29:43.330
Stephen Buckman: to this, and that would be my my take, I mean I i'm not opposed to the design at all. It's just that for me.

663
01:29:43.390 --> 01:29:45.740
Stephen Buckman: You know I you know.

664
01:29:46.040 --> 01:29:50.800
Stephen Buckman: from the development side developer side. And so I see that it's exactly being problematic on it.

665
01:29:51.270 --> 01:30:01.870
Scott Polikov: I think Steven and Daniel are right, except that's why you have to marry up the redesign with an area plan that engages the landowners in the public sector

666
01:30:01.940 --> 01:30:21.260
Scott Polikov: that re has publicly initiated rezoning across all the properties. So the market knows that the redesign also has additional land use benefits that can be achieved. So I, I you have to do planning. You have to do good design again back to Jared's point about a systemic approach.

667
01:30:21.260 --> 01:30:37.810
Daniel Guimond: So

668
01:30:37.920 --> 01:30:55.810
Scott Polikov: I think what i'm seeing is this is just moving it to a full intersection context instead of just off on quadratic an intersection. And it's more density, more tax, base, more amenities that are available to people that live within the mixed use environment that those are the benefits. But again, in vacuum you can't achieve those You

669
01:30:56.200 --> 01:31:00.900
Daniel Guimond: Yeah, I think it works my my own opinion is, it works better in a

670
01:31:01.040 --> 01:31:15.070
Daniel Guimond: in a new development situation. You know. I I think these square about, or whatever you're calling them here. you know, have been very successful and new master plan communities where

671
01:31:15.180 --> 01:31:23.390
Daniel Guimond: the development of the land use our are kind of being done simultaneously with the road improvements. So

672
01:31:23.910 --> 01:31:28.540
Stephen Buckman: yeah, I would agree with that. 100, you know, like retrofitting Malls, that type of thing, you know.

673
01:31:28.660 --> 01:31:38.920
Stephen Buckman: It's it has to be one big, and I agree with both of you is one big package, right? And I, I can, you know, revert back to here to Grenville, South Carolina. They're going through new development code

674
01:31:39.260 --> 01:31:48.020
Stephen Buckman: to shift almost to entirely form base. But that is now encouraging development in certain areas by doing that. So it's part of a whole kind of package

675
01:31:54.000 --> 01:32:06.990
Scott Polikov: is that it is harder, it's more complex. But I think that's not a reason not to do it. But again, absent planning, re ur urban design form, base coding, multiple property engagement

676
01:32:07.100 --> 01:32:13.110
Scott Polikov: in city initiated rezoning with the property owners helping write the zoning. Then I agree with you.

677
01:32:13.120 --> 01:32:20.620
Scott Polikov: But there's a reason that it makes sense to do it that way, because then you will get the market responding it's just a different form

678
01:32:20.660 --> 01:32:21.520
Scott Polikov: of

679
01:32:21.610 --> 01:32:33.160
Scott Polikov: a suburban redevelopment opportunity. That's multi property, that's all. And I think that's one of the reasons. My sense is why this research is being done. But, redesign of the of the

680
01:32:33.320 --> 01:32:35.120
Scott Polikov: of the of the of the

681
01:32:35.370 --> 01:32:42.980
Scott Polikov: the the geometries of the the access management of the intersection design in a vacuum won't work. I agree with that.

682
01:32:43.300 --> 01:32:51.160
Stephen Buckman: Yeah, I think one of the things you're getting Scott there, and I have 3, I think. Tell me if i'm wrong. But is this this buy in from

683
01:32:51.530 --> 01:32:57.370
Stephen Buckman: property owners and developers until you. You're going to need that to drive this forward.

684
01:33:04.010 --> 01:33:22.570
Stephen Buckman: Greater density equals greater height, etc., etc., you know, and that's the only way, this this

685
01:33:22.570 --> 01:33:27.070
Scott Polikov: that the property owners actually have to sign off on and help write

686
01:33:27.230 --> 01:33:37.700
Scott Polikov: the new entitlement, and then then you have shared infrastructure obligations and tax base benefit and profitability. I think absent that I agree with both Daniel and Steve. I completely agree.

687
01:33:39.000 --> 01:33:44.900
Mike Brown: All right. I want to move on because we're gonna run out of time for this, unless you all can stay for a little bit longer.

688
01:33:45.060 --> 01:33:46.780
Mike Brown: That would be wonderful. But

689
01:33:48.680 --> 01:33:54.460
Mike Brown: one thing I am taking away from this is that retrofit is challenging. But I I did want to ask

690
01:33:54.810 --> 01:33:57.530
Mike Brown: in Greenfield environments, where

691
01:33:57.910 --> 01:34:02.430
Mike Brown: there's 2 roads that are likely to become strode

692
01:34:02.940 --> 01:34:13.170
Mike Brown: unless we get ahead of it. Do you foresee that planning to do something different from the beginning can make it a lot easier?

693
01:34:13.650 --> 01:34:19.650
Daniel Guimond: Yeah, I do, I think I guess i'm i'm i'm in Denver, but I mean those

694
01:34:19.940 --> 01:34:31.300
Daniel Guimond: those quad intersections were used extensively in the stapled and redevelopment project by Peter Cal. Thorpe and I. I think we're

695
01:34:31.860 --> 01:34:37.850
Daniel Guimond: you know. Scott's point is where the you know, with a land use and and development.

696
01:34:39.070 --> 01:34:40.870
Daniel Guimond: Zoning

697
01:34:41.030 --> 01:34:44.610
Daniel Guimond: is is being done simultaneously with the

698
01:34:45.040 --> 01:34:49.900
with the road with the road network. I think it it does work better.

699
01:34:51.530 --> 01:35:03.140
Mike Brown: All right. That's good feedback, so maybe it. There's a So it's. Maybe some of the market for this type of stuff is in existing places that desperately need some kind of redevelopment.

700
01:35:03.190 --> 01:35:08.580
Mike Brown: or in brand new places where you don't have so much controversy, and you can

701
01:35:09.260 --> 01:35:25.640
Scott Polikov: plan something different from the beginning. Well, Michael, I would take a little bit of exception, with the point about controversy. You can overcome controversy by engaging the stakeholders effectively, so I wouldn't be scared off from the controversy. I just think it's a question of stakeholder ownership.

702
01:35:25.640 --> 01:35:30.470
Scott Polikov: And so it and the other thing is, I think, the met falls and planning organization, policy and the

703
01:35:30.680 --> 01:35:33.020
Scott Polikov: the long range plan and the IP

704
01:35:33.180 --> 01:35:38.790
have to be aligned with any Federal money is coming in, and a party sponsorship is through the Ncdot.

705
01:35:39.080 --> 01:35:50.970
Scott Polikov: I think it's critical that you have also at the same time to add in a third element is that you have to have the Npos tip and the policies. The projects included have to encourage

706
01:35:50.990 --> 01:35:57.260
Scott Polikov: both outside the right away line changes, and inside the right away line Redesign, whether it's Greenfield or not.

707
01:35:57.430 --> 01:36:08.800
and make the incentive for the through the policy boards of the Npos for that type of of of insight. And outside the right away line partnership. And it could be done.

708
01:36:09.770 --> 01:36:10.430
Mike Brown: Okay.

709
01:36:10.870 --> 01:36:19.250
Mike Brown: right, we're going to g0 0n t0 0ne way streets. I just skipped over the U-turn. We might come back to it at the end, but this one is more

710
01:36:19.990 --> 01:36:22.070
Mike Brown: more critical to get feedback on.

711
01:36:23.240 --> 01:36:30.360
Mike Brown: So here's that Mall location, and you can see, as we show before, that one of our paths goes through them all.

712
01:36:32.290 --> 01:36:35.430
Mike Brown: This is a a rendering of that.

713
01:36:35.810 --> 01:36:37.240
Mike Brown: You can see that

714
01:36:37.490 --> 01:36:41.560
Mike Brown: go that way with that direction. And this way here.

715
01:36:43.310 --> 01:36:48.530
Mike Brown: obviously, the North south one is a little easier to do than the other one, unless you have

716
01:36:48.660 --> 01:36:54.130
Mike Brown: the buy in from the Mall. That says we're defunct. Anyway, we're going to tear this thing down.

717
01:36:55.530 --> 01:36:59.610
Mike Brown: We've seen these pictures before, and we're now willing to talk about that.

718
01:36:59.930 --> 01:37:05.320
Mike Brown: So that would be when you might actually engage about that.

719
01:37:05.640 --> 01:37:07.440
Mike Brown: And this is a kind of a

720
01:37:07.460 --> 01:37:13.140
Mike Brown: big major remodel, so that the the Mall site

721
01:37:14.010 --> 01:37:25.420
Mike Brown: could say, okay, we're tearing down all but a tiny bit of our existing building, and we're gonna do sort of an outdoor Mall type thing. lifestyle center, or whatever you call it. But we're gonna

722
01:37:25.940 --> 01:37:31.450
Mike Brown: also have some living and and office and other things in there

723
01:37:31.820 --> 01:37:37.040
Mike Brown: create a new town, square type thing in this center convert existing parking lots and

724
01:37:37.210 --> 01:37:42.560
Mike Brown: and that low value buildings into this. So in our study of this

725
01:37:42.690 --> 01:37:45.920
Mike Brown: reinvention this way

726
01:37:46.850 --> 01:37:56.840
Mike Brown: we figured that the overall system can support about 2 times more vehicles than it did before. That's what the capacity gain is.

727
01:37:57.200 --> 01:38:06.830
Mike Brown: and with that kind of capacity gain we can support about 5 times more building capacity than we had before. Assuming that we couple this with

728
01:38:07.230 --> 01:38:10.100
Mike Brown: nice walk, bike and transit features.

729
01:38:10.210 --> 01:38:17.440
Mike Brown: and and then general connectivity. I think somebody mentioned that it's got to be smaller blocks and alternative places to be.

730
01:38:18.090 --> 01:38:24.200
Mike Brown: and with all of that combined. The whole system can support that 5 times as much activity as it did before.

731
01:38:24.530 --> 01:38:29.530
Mike Brown: We think that off it's about 1,200 acres of sprawl. And so that

732
01:38:29.560 --> 01:38:34.300
Mike Brown: is the Greenville situation. So

733
01:38:34.400 --> 01:38:35.730
Mike Brown: let's see.

734
01:38:35.850 --> 01:38:39.460
Mike Brown: Oh, that that one's the same thing. So now I got there.

735
01:38:39.720 --> 01:38:42.240
Mike Brown: It's just another view of the same

736
01:38:42.710 --> 01:38:43.550
Mike Brown: thing.

737
01:38:46.300 --> 01:38:49.360
Mike Brown: And then this is a kind of a bird's eye view of that.

738
01:38:50.510 --> 01:38:56.730
Mike Brown: That's the stroke corridor. That's the reinvention. So yeah

739
01:38:56.990 --> 01:39:05.080
Mike Brown: can support twice as much traffic as before. It looks like half as much, but it's because we've moved a lot of it to somewhere else.

740
01:39:05.560 --> 01:39:07.630
Mike Brown: That's a big part of the reason why

741
01:39:07.650 --> 01:39:09.280
Mike Brown: it looks like that.

742
01:39:10.060 --> 01:39:16.170
Mike Brown: And then that's kind of a before and after with the quadrant and the one ways together.

743
01:39:17.240 --> 01:39:23.900
Mike Brown: So that's Greenville. Now I want to show you an application in Smithfield on a historic main street.

744
01:39:24.400 --> 01:39:26.390
Mike Brown: So the Green Mill one was

745
01:39:26.910 --> 01:39:31.110
Mike Brown: I I. It was big. This one had

746
01:39:31.310 --> 01:39:36.290
Mike Brown: the slow lanes like the other one did. It had the on street parking

747
01:39:36.540 --> 01:39:42.850
Mike Brown: It's kind of big, and some of that is because it's a big right of way today, so we're trying to find ways to fill it up.

748
01:39:44.510 --> 01:39:52.780
Mike Brown: Don't necessarily have to have that angle parking on street. We can narrow that up like we've talked about and allow developers to keep their land, and

749
01:39:52.810 --> 01:39:56.160
Mike Brown: maybe bring those buildings a little closer. But in there.

750
01:39:57.840 --> 01:40:04.360
Mike Brown: and the Smithfield case is an interesting application. which is an existing historic Main Street.

751
01:40:05.830 --> 01:40:08.290
Mike Brown: and I want to show you the idea for that.

752
01:40:09.890 --> 01:40:10.800
Mike Brown: So

753
01:40:10.940 --> 01:40:21.100
Mike Brown: here is I 95 0n the left, and there's in this. It's called Market Street. It's like a historic main street, but I that's the name of it is Market Street.

754
01:40:21.560 --> 01:40:28.740
Mike Brown: and so you've got an interchange with I 95. Here you've got a river crossing on the west end.

755
01:40:28.840 --> 01:40:31.060
which is kind of a rare river crossing.

756
01:40:31.160 --> 01:40:41.710
Mike Brown: so as this community starts to grow, and there's more development on the west side, and als0 0n the east side. The fact that you can only cross the river here, and the the interchange is over. There

757
01:40:41.810 --> 01:40:46.930
Mike Brown: means that traffic is going to build and build and build, and it's already pretty high.

758
01:40:47.330 --> 01:40:52.780
Mike Brown: but without an alternative plan, and Aren't. Necessarily a lot of good alternatives.

759
01:40:53.030 --> 01:40:59.950
Mike Brown: This is gonna just get bigger. And s0 0ur idea, then, as well with some one ways.

760
01:41:00.430 --> 01:41:06.120
Mike Brown: streams to split the traffic. We might be able to support really high volumes

761
01:41:06.220 --> 01:41:13.290
Mike Brown: here and do it in a way that's really walkable and and not better. Well, yeah, that shows the pressure on

762
01:41:13.560 --> 01:41:22.260
Mike Brown: Market Street. So here's the focus area I want to show you. This is their kind of their Premier downtown corner. and

763
01:41:23.130 --> 01:41:28.850
Mike Brown: you could see that today it's kind of strode like it's got 4 lanes of traffic.

764
01:41:29.000 --> 01:41:34.480
Mike Brown: It's a They don't have a center turn lane, so it's not particularly efficient for traffic.

765
01:41:35.060 --> 01:41:37.130
Mike Brown: and but

766
01:41:38.230 --> 01:41:43.360
Mike Brown: it's a hard to imagine a a traditional robe diet where you

767
01:41:43.370 --> 01:41:45.400
Mike Brown: create a center, turn lane and just

768
01:41:45.520 --> 01:41:52.650
Mike Brown: one line each direction because of the building traffic pressure with the river crossing and the I and the interchange.

769
01:41:53.590 --> 01:41:55.220
Mike Brown: There's

770
01:41:55.890 --> 01:41:59.320
Mike Brown: something needs to happen, I guess. So. This is

771
01:41:59.530 --> 01:42:02.620
Mike Brown: the downtown. How we envision that that could be

772
01:42:02.780 --> 01:42:06.100
Mike Brown: is, you can split off from the West kind of a

773
01:42:06.540 --> 01:42:09.860
Mike Brown: a new eastbound flow to Johnston Street.

774
01:42:10.110 --> 01:42:20.700
Mike Brown: and then over to Massey street. This segment, right here does not exist, but it can easily be built if there's a reason, build it, and we think this would be a a a good

775
01:42:20.850 --> 01:42:22.370
Mike Brown: compelling reason to build it.

776
01:42:22.900 --> 01:42:31.600
Mike Brown: This is a current situation, maybe with heavier traffic than exists right now, although I think they'd tell you that there are days that it looks like this.

777
01:42:31.940 --> 01:42:38.100
Mike Brown: even right now and then. This is how it would be if we were to create a one-way

778
01:42:38.170 --> 01:42:54.780
Mike Brown: situation so we're not creating any new buildings at this particular side. This is all existing buildings, hopefully making them more valuable. and maybe spurring some additional development near this site, but not necessarily right on this segment.

779
01:42:56.480 --> 01:43:11.470
Mike Brown: And with that type of transition we can go from a lot of asphalt to some outdoor dining areas, some on street angle parking areas we we have where it's impossible to imagine how you're going to fit in

780
01:43:11.510 --> 01:43:22.770
Mike Brown: a bicycle lane or transit in this environment. Now you can say, oh, well, we can do it now. We have our regular to through lanes that we had before.

781
01:43:22.970 --> 01:43:29.860
Mike Brown: but we also now have this third through lane, which is an access lane for parking and slow for bikes, and

782
01:43:30.090 --> 01:43:33.700
Mike Brown: i'm transit. This is a little

783
01:43:34.110 --> 01:43:36.870
Mike Brown: shot that's same

784
01:43:37.200 --> 01:43:39.800
Mike Brown: same location the way it is now.

785
01:43:40.240 --> 01:43:54.560
Mike Brown: this is the way it could end up going, because dots do this sometimes when they don't know what else to do, they just say, okay, no more on street parking. We're gonna now make that a lane. Maybe you could park during the off peak hours, but

786
01:43:54.860 --> 01:43:56.610
Mike Brown: not right now.

787
01:43:57.030 --> 01:44:03.070
Mike Brown: Or alternatively. This is that you that might allow you to fit in

788
01:44:03.750 --> 01:44:06.680
Mike Brown: some transit. And

789
01:44:06.900 --> 01:44:10.200
Mike Brown: yeah slow lanes for bikes stuff like that.

790
01:44:11.560 --> 01:44:18.450
Mike Brown: So with that, the last one I want to show you is this opportunity?

791
01:44:18.770 --> 01:44:29.140
Mike Brown: I think I showed it. But there's also a North South opportunity for a one way Street creates a situation very similar to the Greenville one. and I can walk through this pretty quick.

792
01:44:29.340 --> 01:44:36.120
Mike Brown: So those these buildings right here are kind of garbagey. They're they're really ready to be torn down.

793
01:44:36.460 --> 01:44:44.370
Mike Brown: Not all of them. Some of them are are keepers, but the a few of these would could go, so we said, All right. What if we

794
01:44:44.520 --> 01:44:47.130
Mike Brown: tore down those and made a city park

795
01:44:47.190 --> 01:44:55.970
Mike Brown: and have this one way street system there. This is some of the streetscape, what that might be around the city part

796
01:44:57.740 --> 01:45:06.100
Mike Brown: that's one street. This is another view from one of the other 4 intersections. This is a view from

797
01:45:07.670 --> 01:45:09.850
Mike Brown: on one of those streets next to the part.

798
01:45:13.300 --> 01:45:23.110
Mike Brown: and this is the overall kind of reinvented system. So you see that Johnston and Massey are now kind of relocated. We've got a

799
01:45:23.750 --> 01:45:26.520
the eastbound path over here.

800
01:45:26.710 --> 01:45:30.870
Mike Brown: and then we get over here to Brightly for Ninth, and we have an intersecting within

801
01:45:30.920 --> 01:45:31.980
north, south.

802
01:45:32.460 --> 01:45:37.220
Mike Brown: all of the white buildings, and and this kind of like

803
01:45:37.470 --> 01:45:44.250
Mike Brown: green color buildings Here those are the existing buildings that would stay there's no reason they wouldn't.

804
01:45:44.350 --> 01:45:52.020
Mike Brown: and all of the peach color buildings might be newly activated land that says this place is so awesome. I gotta be near here.

805
01:45:52.740 --> 01:45:57.300
Mike Brown: That's the theory. Is is this so awesome? Do they need to be here here.

806
01:45:58.000 --> 01:46:00.030
Mike Brown: And what do you all think of

807
01:46:00.350 --> 01:46:04.140
Mike Brown: that? So just finish this out we've got.

808
01:46:04.270 --> 01:46:09.310
Mike Brown: This is the way the bright Leaf and Market Street intersection is today.

809
01:46:09.740 --> 01:46:11.890
Mike Brown: and the red lines are.

810
01:46:12.190 --> 01:46:16.070
Mike Brown: If traffic keeps growing, as is surely going to do.

811
01:46:16.410 --> 01:46:28.200
Mike Brown: that, they'll go from one single left turn lane, and and no right turn lanes. It'll go to a double left turn lane with a right turn Lane. This is the default future that

812
01:46:28.220 --> 01:46:32.880
Mike Brown: just end up doing, because they don't know what else to do. And

813
01:46:32.910 --> 01:46:38.690
Mike Brown: then we have versus this situation where we've created the one way crossings and moved it.

814
01:46:39.370 --> 01:46:42.180
Mike Brown: There's a lot more room for streetscape and

815
01:46:42.390 --> 01:46:44.890
and whatnot, and even narrowing that that

816
01:46:45.160 --> 01:46:49.400
Mike Brown: footprint so that you can give back land to development.

817
01:46:50.200 --> 01:46:57.520
Mike Brown: So that's we're going to pause on that same question with the slide. Oh, if you want to walk through and answer these questions about

818
01:46:58.480 --> 01:47:01.890
the one ways but and then we'll just talk about. The

819
01:47:02.290 --> 01:47:06.720
Mike Brown: The one way is the Greenville ones, the historic Market Street.

820
01:47:07.230 --> 01:47:09.040
Mike Brown: Whatever you want to talk about

821
01:47:11.200 --> 01:47:12.080
Mike Brown: regarding one.

822
01:48:26.420 --> 01:48:33.090
Wesley Kumfer: Mike, I didn't quite catch it. Can you clarify those speeds that you showed earlier? Were those what you got out of a simulation?

823
01:48:34.340 --> 01:48:35.550
Mike Brown: The Speeds?

824
01:48:35.600 --> 01:48:46.400
Wesley Kumfer: Yeah, you said the current version. Maybe this was Market Street was like 35 t0 40 miles per hour, and then the change t0 0ne way direction was 25 t0 30 miles per hour.

825
01:48:46.650 --> 01:49:00.120
Mike Brown: Oh, right. Yes, so one of the things about a one-way straight system is you can get driver compliance with the speed limit. and the reason for that is

826
01:49:01.280 --> 01:49:17.090
Mike Brown: signal synchronization. You can do perfect signal synchronization in a one way system that you cannot achieve in a 2 way. And so. when you have that 4 lane effect down Main Street or Market Street

827
01:49:17.540 --> 01:49:24.050
Mike Brown: that is signed for 25 miles an hour. But people are unlikely to drive 25, because

828
01:49:24.120 --> 01:49:25.390
Mike Brown: there's

829
01:49:25.730 --> 01:49:42.460
Mike Brown: There's n0 0bvious reason to do that.

830
01:49:42.470 --> 01:49:58.700
Mike Brown: The queues, the visual cues, you get, say, slow down.

831
01:49:59.290 --> 01:50:06.930
Mike Brown: So So that was why one of the benefits of a one-way system is, you can get

832
01:50:08.340 --> 01:50:09.900
Mike Brown: slower traffic

833
01:50:10.360 --> 01:50:12.980
Mike Brown: in addition to the visual friction you can

834
01:50:13.380 --> 01:50:16.540
Mike Brown: they? Just there's no motive to speed because you see that.

835
01:50:18.370 --> 01:50:18.940
Yeah.

836
01:50:19.240 --> 01:50:42.050
Wesley Kumfer: And I think, at least from a PET and bike, just to go back to the point I brought up with the other kind of design you've reduced the number of potential conflict points to with your crossing. And so, if you have slower vehicles and you've reduced the exposure from a safety standpoint just based on principles, this does look to perform better than the previous designs that you were showing.

837
01:50:42.630 --> 01:50:43.410
Mike Brown: Yeah.

838
01:50:44.810 --> 01:50:56.900
Daniel Guimond: I think, from out from again, more from the development real estate perspective. I think those one ways work fine on the North South

839
01:50:57.050 --> 01:50:59.530
Daniel Guimond: a pairing that you're looking at. I

840
01:50:59.760 --> 01:51:09.900
Daniel Guimond: I on in the actual Main Street commercial district, I mean. I've spent more time trying to convert these one way pairings back t0 2 way traffic

841
01:51:10.200 --> 01:51:21.120
Daniel Guimond: that than the opposite, because most sort of Main Street commercial districts function much better with two-way traffic than they do with one-way traffic, regardless of the

842
01:51:21.340 --> 01:51:24.150
Daniel Guimond: size of the cross section.

843
01:51:25.390 --> 01:51:28.940
Stephen Buckman: I I would second that completely one way streets.

844
01:51:29.220 --> 01:51:39.230
Stephen Buckman: This is hey? One way streets, you know that, like they do crew a streets with with street parking. you know. That's that's your jam.

845
01:51:39.380 --> 01:51:43.550
Stephen Buckman: I mean, and that's what will work, and that's what we'll get by annual. It's

846
01:51:43.850 --> 01:51:47.130
Stephen Buckman: one ways are just really hard from a development

847
01:51:47.850 --> 01:51:53.510
Stephen Buckman: developer slush. This is owner perspective. They they're not fans.

848
01:51:53.580 --> 01:51:57.680
Daniel Guimond: I guess. The other thing that I wonder about is

849
01:51:58.000 --> 01:52:01.620
Daniel Guimond: but you're using a lot of

850
01:52:02.840 --> 01:52:09.380
Daniel Guimond: diagonal parking in these situations. And I'm. you know, unless you're in a really slow

851
01:52:09.800 --> 01:52:22.440
Daniel Guimond: like below 20 mile an hour. kind of setting those those really tend to create congestion as opposed to solve it. I i'm not. I'm not a big fan of

852
01:52:22.820 --> 01:52:24.590
Daniel Guimond: of diagonal parking.

853
01:52:25.830 --> 01:52:33.270
Mike Brown: They would be even 10 miles an hour in that situation, because they're next to the slow land, which is about a 10 mile an hour. Lane.

854
01:52:33.480 --> 01:52:41.590
Daniel Guimond: Yeah. I I mean the the the challenge. It seems like a lot of the examples you're using here are are likely on a

855
01:52:41.820 --> 01:52:54.830
Daniel Guimond: a a state highway kind of situation. and where you know you're like the Market Street situation. It sounds like your forecast. You're expecting just

856
01:52:55.210 --> 01:53:08.380
Daniel Guimond: enough of an increase of traffic that you're just creating a a situation where even the existing right away may not be enough to to to solve the transportation problem, but

857
01:53:08.420 --> 01:53:14.050
Daniel Guimond: it it it. As I. As I said I I

858
01:53:14.170 --> 01:53:16.710
Daniel Guimond: don't think the one way solution

859
01:53:16.760 --> 01:53:27.490
Daniel Guimond: creates a a good business environment for an existing Main Street second setting, and usually the the parallel bypass. If you will

860
01:53:27.560 --> 01:53:30.160
Daniel Guimond: doesn't generate

861
01:53:30.300 --> 01:53:36.300
Daniel Guimond: a a lot of developer interest in building on the back side of those commercial districts.

862
01:53:36.710 --> 01:53:38.070
Mike Brown: even if you've got

863
01:53:38.540 --> 01:53:41.910
Mike Brown: the traffic over there to support it.

864
01:53:48.940 --> 01:53:56.010
Mike Brown: Well, in that particular case, it's already quite commercial over on that side that there's businesses on both streets.

865
01:53:57.690 --> 01:54:09.090
Daniel Guimond: Yeah, of a different nature. It it to be like, and not not so much of a historic Main Street kind of context. Yeah, I know you're right about that. So

866
01:54:09.220 --> 01:54:16.350
Mike Brown: Well, yeah. So that is a question as we do understand that it would be really challenging to

867
01:54:17.610 --> 01:54:20.890
Mike Brown: to make a case that one way is better than 2 way

868
01:54:21.160 --> 01:54:24.250
Mike Brown: for businesses on a historic main street.

869
01:54:24.720 --> 01:54:27.780
Mike Brown: and thought, Well, maybe the

870
01:54:29.250 --> 01:54:35.060
Mike Brown: if you just line up the pros and cons of the things you can have in the one situation versus in the other.

871
01:54:36.070 --> 01:54:42.590
Mike Brown: It might tilt the scale, and all of that would have to come in the context of what is your alternative?

872
01:54:43.040 --> 01:54:49.860
Mike Brown: Because for cases where there's not tons of traffic, then maybe the 2 way is

873
01:54:50.130 --> 01:54:52.910
Mike Brown: is wonderful, but in cases where

874
01:54:53.070 --> 01:54:54.700
Mike Brown: bad and getting worse.

875
01:54:55.720 --> 01:55:00.360
Mike Brown: it maybe the it's a hard pill to swallow, but so is the other one.

876
01:55:01.080 --> 01:55:06.090
Scott Polikov: I think you would only want to

877
01:55:06.330 --> 01:55:09.640
Scott Polikov: 2 way. Leave it alone.

878
01:55:11.550 --> 01:55:19.560
Scott Polikov: Okay. A 2 lane 2 way. S0 0ne lane each direction on it. Yeah, don't don't convert that t0 0ne way, and find like how to not ever add any new lanes

879
01:55:20.820 --> 01:55:24.890
Mike Brown: right. But in a situation where you've already got 4,

880
01:55:26.520 --> 01:55:28.720
Mike Brown: and it might even get worse than that.

881
01:55:29.140 --> 01:55:43.780
Scott Polikov: absolutely. And I agree with Daniel again, Steven. But I think that you've got to sell the property owners or I. I I message this, but i'll just reinforce it. You've got to sell the property owners that there's gonna also be an expansion of the pedestrian zone for cafe environments.

882
01:55:43.940 --> 01:55:56.440
Scott Polikov: and then, and and and and and and other means to encourage better walking traffic. And then you've got to also show the downtown network that is easy to loop around a block or 2, not 6 0r 7,

883
01:55:56.460 --> 01:56:02.160
Scott Polikov: and I think those 2 things are required to to sell it.

884
01:56:07.830 --> 01:56:10.400
Mike Brown: Anybody else want to weigh in on this so.

885
01:56:13.180 --> 01:56:19.390
Mike Brown: Mike, so that you are aware it is 2 28 right now

886
01:56:19.770 --> 01:56:22.080
Mike Brown: 119Â min. Now

887
01:56:25.700 --> 01:56:28.900
Connor Jones: I just have a comment on related to

888
01:56:29.080 --> 01:56:32.680
Connor Jones: kind of the one way split, just talking about the slow lanes.

889
01:56:33.480 --> 01:56:41.480
Connor Jones: the slow lanes. Give me a little bit of concern for safety as a transit planner. That's kind of my background.

890
01:56:41.880 --> 01:56:50.080
Connor Jones: It kinda seems like the miscellaneous. Put everyone else there while we're moving traffic through the downtown area in the 2 lanes.

891
01:56:50.570 --> 01:56:51.460
Mike Brown: So

892
01:56:52.050 --> 01:56:59.990
Connor Jones: you know I see transit buses stopped, and then bikers starting out into those lanes, this through lanes.

893
01:57:00.420 --> 01:57:06.030
Connor Jones: and then parking als0 0n the other side, trying to get through. I don't know if it's the best

894
01:57:06.660 --> 01:57:08.270
solution.

895
01:57:10.550 --> 01:57:21.740
Scott Polikov: I agree a little bit with Connor, and I think one way to deal with driver expectation als0 0f cars coming into that outside lane. If they perceive it to be a way to go around slowing traffic in the

896
01:57:21.840 --> 01:57:26.040
Scott Polikov: the inside 2 lines is to raise the

897
01:57:26.140 --> 01:57:27.240
Scott Polikov: profile

898
01:57:27.300 --> 01:57:39.650
Scott Polikov: of that slower lane, so that there's a and keep it integrated. Color concrete that's different, so that there's a there's a tactile perception a little bit of a car trying to come in

899
01:57:39.670 --> 01:57:42.000
Scott Polikov: into a bicycle, for example.

900
01:57:42.280 --> 01:57:44.080
and

901
01:57:44.200 --> 01:58:01.240
Scott Polikov: I think that but it has to be done as a as as a as a layback, so that you don't also, if it bicyclists, does come down int0 0ne of those other lanes as Connor just described, you want to make sure that it's not unsafe for them to come down into the change of the vertical profile of the

902
01:58:01.320 --> 01:58:05.040
Scott Polikov: of the the from the outside line to the to the second line.

903
01:58:08.660 --> 01:58:11.730
Mike Brown: We are totally not sure whether the slow lanes

904
01:58:11.760 --> 01:58:16.520
Mike Brown: will work, or whether it's a good idea, but it looked like an idea, and we wanted to

905
01:58:18.030 --> 01:58:22.390
Mike Brown: pitch that and say, is this something that's worth more thinking about

906
01:58:22.680 --> 01:58:34.460
Scott Polikov: that I wouldn't abandon it, Michael. Just you some. I think Connor's point is, be careful trying to do too much, because you've got parking, transit cycling and autos, and it may be that you need a dedicated a bike

907
01:58:34.460 --> 01:58:51.040
Scott Polikov: facility. I cycle almost every day, in addition to the slow lane. In certain circumstances, Don't give up on it. It's just driver and cyclist and parking, and 3 traffic expectations may necessitate not doing all of that in one section. Right?

908
01:58:51.520 --> 01:59:03.940
Mike Brown: Okay? Well, we've hit the time. If anyone needs to drop off, I guess you can feel free to drop off. I can. I I would like to if anyone can stay circled back to the, to the U Turn

909
01:59:04.720 --> 01:59:07.150
intersections and show those

910
01:59:08.050 --> 01:59:09.070
Mike Brown: anybody.

911
01:59:12.790 --> 01:59:17.680
Mike Brown: Well, I'm just gonna do that. And if you have to drop off, then you have to drop off. But

912
01:59:18.880 --> 01:59:23.000
Mike Brown: but I know you're all just dying to see what these things are, anyway. So

913
01:59:26.210 --> 01:59:28.090
Mike Brown: so i'll just go ahead and play it

914
01:59:32.310 --> 01:59:35.080
Mike Brown: all right. You turn intersections.

915
01:59:39.230 --> 01:59:43.220
Mike Brown: So here is this location. That's just south of the mom.

916
01:59:43.680 --> 01:59:51.620
Mike Brown: and that is what can happen. So you got the before situation and the after

917
01:59:52.800 --> 01:59:55.040
Mike Brown: this one happens to combine

918
01:59:55.480 --> 02:00:02.210
Mike Brown: some quadrant paths. So the little yellow arrows right here. Our new streets through the parking lots

919
02:00:02.510 --> 02:00:05.100
Mike Brown: that facilitate

920
02:00:05.320 --> 02:00:08.060
Mike Brown: left turns in in that way.

921
02:00:08.560 --> 02:00:15.450
Mike Brown: But in cases where you cannot get a a quadratic path or any kind of alternative path then

922
02:00:15.520 --> 02:00:18.560
Mike Brown: being able to create these U turns is a

923
02:00:18.700 --> 02:00:29.130
Mike Brown: way to improve traffic flow. If you're actually from North Carolina, they're building these they're called. They used to call them Super Street. Now they're

924
02:00:29.150 --> 02:00:31.810
Mike Brown: our cut, restricted, crossing U Turn

925
02:00:31.870 --> 02:00:44.180
Mike Brown: or restricted crossing intersection. Rci. Is some of the terminology Use the way that they've been built so far by the dot, and by pretty much every dot they are not very.

926
02:00:45.000 --> 02:00:50.560
Mike Brown: It's just all as well. It's just solve the traffic problem. Don't make it nice, just

927
02:00:50.950 --> 02:00:52.200
is just cheap.

928
02:00:52.630 --> 02:00:59.930
Mike Brown: And so this one, this design is saying, Well, it's kind of the same thing. But this time we're trying to actually

929
02:01:00.460 --> 02:01:04.990
Mike Brown: create an environment that can be safer

930
02:01:05.090 --> 02:01:16.750
Mike Brown: and more compatible with pedestrians. as in all of these pictures we've shown the the slow lanes they don't necessarily have to be here, so

931
02:01:17.110 --> 02:01:22.210
Mike Brown: you can tighten up the whole footprint by just dropping off everything that's teal color.

932
02:01:22.400 --> 02:01:27.160
Mike Brown: or making it a bicycle exclusive lane rather than a

933
02:01:27.800 --> 02:01:32.380
Mike Brown: then some kind of of a multi-use lane.

934
02:01:34.790 --> 02:01:35.730
Mike Brown: and

935
02:01:35.840 --> 02:01:46.400
Mike Brown: in this case the the traffic improves from 3,800 per hour t0 6000 an hour. So it's pretty substantial, is what the game could be.

936
02:01:46.720 --> 02:01:54.400
Mike Brown: We think that could support for area ratio about 3 times as high as it is right now. And

937
02:01:54.590 --> 02:02:05.840
Mike Brown: the here's a bit of a close up of what that can look like. I'm sure that you've never seen anywhere in the United States of America at intersection that looked like that.

938
02:02:06.290 --> 02:02:10.760
Mike Brown: And but what if it did you know. What if we created that?

939
02:02:12.070 --> 02:02:13.120
Mike Brown: And

940
02:02:13.360 --> 02:02:16.690
Mike Brown: so here's a bird's eye view of that spot.

941
02:02:18.080 --> 02:02:23.730
Mike Brown: and you can see. The basic idea is that you make a U Turn

942
02:02:24.280 --> 02:02:31.280
Mike Brown: ability right there. Now, this particular view on the right is an interesting one, because you know how most strobes have a

943
02:02:31.730 --> 02:02:34.010
the center left Turn Lane.

944
02:02:34.670 --> 02:02:42.750
Mike Brown: This is a case where we've now said, okay, we're going to eliminate the center left term Lane. We're going to raise the median. but

945
02:02:43.060 --> 02:02:48.380
Mike Brown: instead of having a kind of a planted meeting. We're gonna just have no median

946
02:02:48.730 --> 02:02:54.450
because we want the space to be available for on street parking or better streetscape

947
02:02:54.640 --> 02:03:07.780
Mike Brown: whatever. But we're gonna give people a way to turn around, though, so they they they make a. They can turn around right here. And so this is another shot of how that can work

948
02:03:08.500 --> 02:03:14.680
Mike Brown: so you can see in the top right? This is kind of the corridor view that we're looking at right now.

949
02:03:15.270 --> 02:03:16.190
Mike Brown: and

950
02:03:17.680 --> 02:03:18.540
Mike Brown: this is

951
02:03:18.640 --> 02:03:27.670
Mike Brown: a dangerous left turn to make takes long delays probably needs a traffic signal. but if we do this instead, we we would.

952
02:03:28.150 --> 02:03:37.720
Mike Brown: We might still have a traffic signal, but it would be a pedestrian traffic signal, not a not a vehicle traffic signal. and instead, we're forcing vehicles now to turn right.

953
02:03:38.050 --> 02:03:45.350
Mike Brown: They have to go around the intersection. So the the yellow is just a big. I didn't want t0 0bscure the actual

954
02:03:45.500 --> 02:03:57.440
Mike Brown: intersection, so I just put that in there. and that's how you make that turn. So it's a little bit longer path, but it's faster, and it's a little safer to achieve. and

955
02:03:58.690 --> 02:04:00.490
Mike Brown: and then you can see that it's.

956
02:04:00.920 --> 02:04:06.040
Mike Brown: The the one on the left is a rather narrow U turn. It's cars only

957
02:04:06.060 --> 02:04:11.710
Mike Brown: the one on the right is for trucks, because we do have to make a way for trucks to turn around every now and then.

958
02:04:13.760 --> 02:04:15.040
Mike Brown: And

959
02:04:16.940 --> 02:04:22.420
Mike Brown: so this is an access control strategy. Basically. So you know how, when dots just

960
02:04:23.130 --> 02:04:29.370
Mike Brown: they always do a raised median, anyway. But what they don't do for you is give you a way to make a u turn.

961
02:04:29.800 --> 02:04:33.100
Mike Brown: So so you're kind of stuck

962
02:04:33.490 --> 02:04:36.660
Mike Brown: having to figure out how to get back to where it came from.

963
02:04:37.170 --> 02:04:40.610
Mike Brown: This is saying, Well, for safety.

964
02:04:41.000 --> 02:04:47.230
Mike Brown: We need to do that. Raise Median. but we're going to intentionally create a a U Turn opportunity.

965
02:04:49.120 --> 02:04:51.230
Mike Brown: That's better than you had before.

966
02:04:52.030 --> 02:05:08.120
Mike Brown: and think it's a good access control, strategy and safety strategy. And then it might also, because of the chicanes that it makes, and then the need to curve it. It slows things down. In addition to visual friction, it physically requires you to turn your car.

967
02:05:08.410 --> 02:05:12.480
Mike Brown: which you didn't have to do before. So you enter these intersections.

968
02:05:12.700 --> 02:05:18.100
Mike Brown: T bones would be less likely and less catastrophic. All of that.

969
02:05:20.560 --> 02:05:28.220
Mike Brown: There's a view of that corridor. This is the same place that I just showed with the truck that turns around.

970
02:05:29.210 --> 02:05:34.910
Mike Brown: This is the same view of that pedestrian intersection where you have the pedestrian crossing.

971
02:05:35.510 --> 02:05:40.970
Mike Brown: and how transit outdoor dining and other things might work. There's the slowing idea.

972
02:05:41.970 --> 02:05:48.820
Mike Brown: So gonna pause for a minute and just talk about this, you turn idea if you want to answer the same questions.

973
02:05:49.590 --> 02:05:54.780
Mike Brown: And then for those who are able to stay on and talk about it. Love to hear what you think.

974
02:06:04.480 --> 02:06:10.480
Celen Pasalar: I think Scott has a comment, Mike, on the chat.

975
02:06:11.160 --> 02:06:13.030
Mike Brown: I haven't been looking at chat, but

976
02:06:13.160 --> 02:06:16.980
stuff they want to collaborate on it.

977
02:06:24.270 --> 02:06:33.940
Scott Polikov: But thank you, chile, I I just think there's a lot of potential here, and I know that with any study you have to make priorities of what you end up

978
02:06:35.200 --> 02:06:46.890
Scott Polikov: determining you're gonna do more in-depth analysis on and the versus other aspects of the study. And I think this design option really deserves.

979
02:06:49.220 --> 02:07:02.870
Scott Polikov: maybe as much priority as any cause. I I think it's very realistic, and it's functionally from Daniel's perspective. He's, he said several times. There's a perception of in the suburban environments, you know. Visibility issues.

980
02:07:03.090 --> 02:07:08.860
Scott Polikov: It seems to me that driver expectation, visibility intuitively to me. A line here.

981
02:07:08.920 --> 02:07:17.310
Scott Polikov: I'm not saying, Don't, continue to analyze the others, but I think this to me has a lot of potential. If you have to prioritize inquiry, I would I would put emphasis on this one

982
02:07:18.260 --> 02:07:19.470
Celen Pasalar: perfect. Thank you.

983
02:07:29.340 --> 02:07:34.140
Mike Brown: That is an interesting aspect of this. Is it doesn't really divert the traffic to somewhere else.

984
02:07:35.750 --> 02:07:36.610
So it

985
02:07:37.860 --> 02:07:47.860
Mike Brown: might be more compatible in some ways. because of the visibility issue and accessibility.

986
02:07:49.110 --> 02:07:52.390
Mike Brown: It's also kind of affordable, and that it doesn't require

987
02:07:54.400 --> 02:08:00.070
Mike Brown: long length of new paths. So it's just little carve outs.

988
02:08:02.240 --> 02:08:11.410
Scott Polikov: Well, I I think like that's a extremely important point, because when you're doing as you know, when you're doing retrofits of existing

989
02:08:11.690 --> 02:08:13.050
facilities.

990
02:08:13.320 --> 02:08:16.940
Scott Polikov: When you have to re that curve

991
02:08:16.990 --> 02:08:22.750
in impact utilities which I may or may not be the case in this particular example, but

992
02:08:22.870 --> 02:08:28.360
Scott Polikov: you have to justify it. And if the less impact you have.

993
02:08:28.390 --> 02:08:43.710
Scott Polikov: or the more benefit to justify modifications in certain areas, I think, is always going to be a political and policy consideration. Again, I that's a very general statement. I don't think you can apply it to any specific.

994
02:08:43.840 --> 02:08:57.150
Scott Polikov: So circumstance the details matter. But I think your point is really important about the impact of the retrofit as far as cost. But there's nothing wrong with spending more money if it if it's justified

995
02:08:58.110 --> 02:08:58.720
Mike Brown: right.

996
02:09:16.290 --> 02:09:20.200
Mike Brown: I don't know it is. Everybody filled out the poll that's going to

997
02:09:28.460 --> 02:09:30.990
Mike Brown: Okay? Well, we're.

998
02:09:34.610 --> 02:09:43.100
Mike Brown: So I guess we're at the end. Does anybody want to weigh in with some last minute thoughts on the overall

999
02:09:44.310 --> 02:09:51.010
Mike Brown: focus group, and then the ideas of the 3 ideas quadrant one way, and

1000
02:09:51.460 --> 02:09:54.760
Mike Brown: and this you turn got a favorite

1001
02:09:59.760 --> 02:10:19.130
Wesley Kumfer: from a safety perspective. I i'm a big fan of roundabouts, and so I really like that the this last one the U-turns incorporate horizontal deflection to slow traffic and get traffic coming built in. I think there might be some issues for heads if they have to make 3 0r 4 stage crossings. It looks like at a couple of the intersections. But

1002
02:10:20.760 --> 02:10:23.670
Wesley Kumfer: you know that's something that could potentially be accommodated.

1003
02:10:26.430 --> 02:10:30.150
Mike Brown: Yeah, and you mean like, because there's so many islands.

1004
02:10:30.680 --> 02:10:46.080
Wesley Kumfer: Yes, yeah, there's so here in North Carolina. I mean, you probably know that we have. like reduce conflicts, U turns, and and some other sort of alternative intersection designs.

1005
02:10:46.400 --> 02:10:48.520
Wesley Kumfer: crossings to get across those, and

1006
02:10:48.710 --> 02:11:06.450
Wesley Kumfer: a lot of times they just sort of deter people from using them from compliant with the design, just because that's multiple stages of crossing. And so people might just run across any way. So just from a pedestrian psychology perspective, you know, the more stages you add, the less likely it is you're gonna get compliance through there.

1007
02:11:09.470 --> 02:11:16.920
Mike Brown: Well, we thought that the 2 stage crossing as long as it's directly in line, not the Z. But

1008
02:11:17.370 --> 02:11:27.750
Mike Brown: that that's a good thing, because if they can make it all the way, then fine. But if they feel like they have to pause in the middle, then at least they're not pausing

1009
02:11:29.940 --> 02:11:36.350
Mike Brown: 50 while an hour Traffic? Yeah. At least they're not exposed, and and people would be slow down to for sure. Yeah.

1010
02:11:36.400 --> 02:11:36.980
it's

1011
02:11:37.080 --> 02:11:39.450
Scott Polikov: and I had one thought on governance.

1012
02:11:39.610 --> 02:11:50.520
Scott Polikov: We led the Durham orange, light rail, stationary planning, which unfortunately fell apart at the end because of a certain university pulling back it's right away. Grant.

1013
02:11:50.880 --> 02:11:53.970
Wesley Kumfer: It's been 3 years working with the Ncdot and

1014
02:11:54.110 --> 02:12:05.220
Scott Polikov: Durham Orange County Chapel Hill, and Durham and Staff and the Mpos, and it was an excellent experience, and i'll forward the the work. We does sound like about the other day. There's a lot of maybe that can be built on

1015
02:12:06.540 --> 02:12:13.810
Scott Polikov: that in terms of increasing networks. And last month pedestrian improvements and all that that could be helpful. I hope somebody uses the work.

1016
02:12:14.010 --> 02:12:23.630
Scott Polikov: but I I want to say I I I I want to give credit to Ncdot, because is it? 15 5 a one I can't remember which

1017
02:12:23.700 --> 02:12:33.850
Scott Polikov: is the state by way that us over the goes. It. It's Chapel Hill inter.

1018
02:12:33.920 --> 02:12:47.930
Scott Polikov: and i'm not criticizing Durham or Chapel Hill got everybody on board for the final plan we did on most of the work we did for all the stationary development and improvements in the infrastructure and and development

1019
02:12:48.840 --> 02:12:52.840
questions about shared ownership of loose stations and those sorts of things.

1020
02:12:53.940 --> 02:13:00.400
Scott Polikov: But I think it's really important for a government standpoint that when you have a progressive dot and an Mpo.

1021
02:13:00.720 --> 02:13:14.440
Scott Polikov: You you still got to work to get the cities where you got the facility together, because I know that finally in CD it's just throwing hands up with certain 15,501 improvements, because Durham and Chapel Hill are totally in conflict on those issues.

1022
02:13:16.290 --> 02:13:27.590
Scott Polikov: I hope I didn't scratch any scar tissue there, but I just think that from a governance standpoint the the the alignment of joint or or adjacent municipalities is also sometimes very important.

1023
02:13:33.080 --> 02:13:36.350
Mike Brown: Okay? Well, I think we're done so

1024
02:13:36.980 --> 02:13:43.940
Mike Brown: appreciate everybody that's been here today, and all of a good feedback. We got data to comb through and

1025
02:13:44.610 --> 02:13:52.060
Mike Brown: comments and new insights, things I did not even think about before

1026
02:13:52.330 --> 02:13:53.990
Mike Brown: money to d0 0n. So

1027
02:13:54.050 --> 02:13:58.370
Scott Polikov: your use of slide. It was actually very effective, too. I appreciated that. It's a great way to do the

1028
02:13:58.390 --> 02:14:06.100
Mike Brown: I've never seen that before. I guess I've been out of it for a while. But stuff! That's fun. One that yeah, it's kind of cool to see that real time

1029
02:14:06.750 --> 02:14:12.530
Scott Polikov: looking forward to reading the final report. Alright, Thank you so much.

1030
02:14:12.580 --> 02:14:14.190
Tim Brock: Thanks. Everyone.

